\ RODIFTEN

PERFECTION

NSERVICE | e

VA -’)TECHNIBAL .

B /CATALOGUERN:







TEGHNICAL CATALOGUE

Wt RuDIFLEX

THCO T H



NINGBO ZHONGYI: LEADER MANUFACTURER
OF ORBITAL MOTORS

Ningbo Zhongyi Hydr. Motor Co. Ltd was founded in 1971.

Today the Company is recognized, in terms of quality, as the chinese leader manufacturer of orbital motors
and hydraulic steerings. The Company also produces radial piston motors, hydraulic planetary gearboxes and
hydraulic winches.

Ningbo Zhongyi has developed, introduced and certified a Company Quality System in line with ISO 9001 to
increase and stabilize the products quality, all of them are CE certified.

Ningbo Zhongyi, who made in 2020 more than 500.000 orbital motors, has in Ningbo a plant of about
44.000 m?, another of 80.000 m? in Wuhu Anhui and a modern R & D Center in Zhejiang.

The manufacturing plants are based on highly automated and efficient processes.

The Company established also a good cooperation with the most famous Chinese Universities, in order to
have a continuous improvement in terms of products quality and reliability.

Ningbo Zhongyi has loyal relationships with the major Chinese and international OEM like SANY, XCMG,
ZOOMLION, KUBOTA, BAOLI, LIUGONG.

The Company developed 2 brand, ziHYD mainly for Chinese market, and THOTH mainly for the Export market.



RUDIFLEX: EXCLUSIVE DISTRIBUTOR
OF THE ZIHYD AND THOTH BRANDS

Rudiflex is a leading company in the distribution of mechanical and hydraulic components.

One of the keys of Rudiflex’ success is undoubtedly the service: the company thanks to its own trucks and the
collaboration with the main couriers is able to make deliveries to any customer in a timely manner.

From January 2021 Rudiflex has been appointed from Ningbo Zhongyi exclusive Distributor for the Italian
market of the whole range of orbital motors with ziHYD anf Thoth brands.

Thanks to this Agreement Rudiflex is able to offer to the customers a range of very high quality orbital motors
at competitive prices. Furthermore, thanks to qualified personnel, high orbital motors stock and conversion
kits, Rudiflex is able to respond to any request by offering prompt deliveries.




'(:[ RUDIFLEX

ITH



INDEX

SPOOL VALVE HYDRAULIC MOTORS

Hydraulic Motors Series BMM 8

Hydraulic Motors Series BMR 14
Hydraulic Motors Series BS 38
Hydraulic Motors Series BMH 42
Hydraulic Motors Series BMP 50
Hydraulic Motors Series BH 63
Hydraulic Motors Series TMPH 67

DISK VALVE HYDRAULIC MOTORS

Hydraulic Motors Series BM3Y 72
Hydraulic Motors Series BM4 87
Hydraulic Motors Series BM5 98
Hydraulic Motors Series BM6 109
APPENDIX 115

HYDRAULIC MOTORS WITH BRAKER

Hydraulic Motors Series ZBMR 116
Hydraulic Motors Series ZBMR/N 117
Hydraulic Motors Series ZBM 119

HYDRAULIC BRAKER
Hydraulic Braker Series ZDM 121

HYDRAULIC VALVES FOR MOTORS

Overcenter Valves 122

www.rudiflex.com



NX RUDIFLEX THC

BMM Orbit Hydraulic Motor With Spool Valve

Hl INTRODUCTION

This series of motor , with its shell made of ductile cast iron of adequate intenty, can be applied to situations
with less load and interval operation,widely to agriculture,forestry,plastics,machine tools and minmachines

etc.

B CHARACTERISTICS

1. With the axial oil distribution structur,it is of smaller,high efficiency and long life.

2. Shaft seal can bear high pressure of motor of which can be used in parallel or in series.

Hl TECHNICAL DATA

Type BMM-8 BMM-12.5 BMM-20 BMM-32 BMM-40 BMM-50
8.2 12.9 19.9 31.6 39.8

Displacement.(ml/r) 50.3
cont. 10 10 10 10 9 7
'\DA;);TI::;:\;M int. 14 14 14 14 14 14
peak. 20 20 20 16 16 16
cont. 11 16 25 40 45 46
Max.torque (Nm) int. 15 23 35 57 70 88
peak. 21 33 51 64 82 100
Speed.Range(cont.)(r/min) 1950 1550 1005 630 500 395
Max.Flow(cont.)(L/min) 16 20 20 20 20 20
Max.Output.Power(cont.) 1.8 2.4 2.4 2.4 2.2 1.8
Weight(Kg) 1.9 2 21 22 2.3 24

Intermittent operation the permissible values may occur for max.10% of every minute,
Peak load:the permissible values may occur for max.1% of every minute.

8 www.rudiflex.com



NX RUDIFLEX THC

BMM Orbit Hydraulic Motor With Spool Valve

M PERFORMANCE DATA
BMM 8(8.2ml/r)

Flow(L/min)

Max.cont.

Max.int.

Flow(L/min)

Max.cont.

Max.int.

Flow(L/min)

Max.cont.

Max.int.

BMM 12.5(12.9ml/r)

Pressure(Mpa) Max.cont. Max.int. Pressure(Mpa) Max.cont. Max.int.
| 35 | 5 | 7 | 10 | 12 | 12 | | 3.5 | 5 | 7 I 10 | 12 | 14 |
6 8 11 15 | 19
5 3 5 8 10 12 14 2 140 | 136 | 119 | 68 | 35
228 218 206 156 111 58 6 ) 12 16 19 23
4 3 5 7 11 13 15 |4 296 | 289 | 274 | 229 | 200 | 145
a74 | 471 | 463 | 426 | 391 | 331 £ 8 5 8 12 | 16 | 20 | 24
8 3 5 7 11 13 15 ‘%’ 605 | 596 | 583 | 543 | 514 | 469
953 | 946 [ 926 | 884 | 855 | 816 T | 10 5 8 11 16 | 20 | 24
e || 2 ] 5 [ 7 [ ] ST T 15 T 1 T2
1444 | 1426 |1402 | 1360 | 1324 | 1288 15 | | 4152 | 1124 | 1136 | 1102 1078 | 1036
16 4 7 10 12 14 vaeont. | 20 3 7 | 10 | 156 | 19 | 22
1912 | 1900 | 1861 | 1833 | 1780 1542 | 1532 | 1521 | 1500 | 1482 | 1437
20 6 10 11 14 Vi 2 6 9 14 18 22
ax.int. 25
2395 | 2350 |2328 | 2281 1910 | 1891 | 1878 | 1848 | 1828 | 1788
BMM 20(19.9ml/r) BMM 32(31.6ml/r)
Pressure(Mpa) Max.cont. Max.int. Pressure(Mpa) Max.cont. Max.int.
[17 135 ] 5 ] 7 ] 10 [ 12 [ 14 | [ 2 [385] 5 7 [ 10 ] 12 ] 14 ]
5 4 9 14 | 19 | 24 | 30 5 7 15 | 21 28 | 39
9 | 96 | 89 | 74 | 42 | 21 61 57 | 52 | 47 | 16
A 4 9 14 | 19 | 24 | af 36 N 7 15 | 21 29 | 40 | 48 | 57
197 | 191 | 182 | 178 | 134 | 112 | 74 = 126 | 121 | 114 | 106 | 82 | 67 | 49
8 4 9 13 | 19 | 25 | 31 36 £ s 7 15 | 21 29 | 40 | 49 | 58
308 | 395 | 391 | 377 | 340 | 319 | 288 Et 250 | 244 | 239 | 231 | 207 | 194 | 167
12 3 8 13 | 18 | 25 | 3f 37 2 12 6 13 | 20 | 28 | 40 | 48 | 58
506 | 594 | 588 | 579 | 545 | 523 | 493 378 | 374 | 369 | 362 | 338 | 322 | 297
15 3 8 12 | 17 | 25 | 30 | 36 15 4 12 | 18 | 27 | 39 | 47 | 57
745 | 741 | 738 | 728 | 695 | 684 | 660 474 | 472 | 468 | 462 | 441 | 429 | 406
1 6 11 19 | 24 | 29 | 35 3 10 | 17 | 25 | 37 | 46 | 55
20 Max.cont. 20
998 | 995 | 991 | 985 | 962 | 916 | 885 631 | 630 | 627 | 619 | 601 | 585 | 566
o5 4 9 14 | 23 | 28 | 33 vacnt | 25 1 8 15 | 23 | 35 | 43 | 52
1247 | 1245 | 1242 | 1189 | 1180 | 1176 791 | 789 | 787 | 783 | 766 | 753 | 732
BMM 40(39.8ml/r) BMM50(50.3ml/r)
Pressure(Mpa) Max.cont. Max.int. Pressure(Mpa) Max.cont. Max.nt.
3 ] 5 7 [ 9 [ 10] 12| [16] 3 [ 5 [ 7 [10 ]
5 16 | 27 | 36 | 44 | 51 5 9 18 | 32 [ 45
45 | 40 | 34 | 28 | 17 37 | 83 | 27 | 22
4 16 | 27 | 37 | 45 | 52 | 62 | . 9 19 | 33 | 46 | 64
9 | 93 | 85 | 79 | 65 | 52 5 76 | 73 | 68 | 63 | 55
8 15 | 26 | 36 | 45 | 52 | 63 £l 9 | 19 | 33 | 46 | 64
197 | 195 | 182 | 176 | 166 | 154 Et 157 | 154 | 149 | 145 | 137
12 14 | 25 | 35 | 43 | 51 62 2 10 9 18 | 32 | 46 | 63
203 | 287 | 282 | 277 | 268 | 257 237 | 234 | 231 | 226 | 218
15 13 | 24 | 34 | 42 | 50 | 62 15 8 17 | 31 42 | 62
371 | 365 | 360 | 355 | 347 | 338 296 | 295 | 294 | 288 | 282
00 10 | 21 31 39 | 48 | 59 20 6 13 | 27 | 40 | 59
497 | 492 | 487 | 480 | 472 | 463 Max.cont. 395 | 395 | 393 | 390 | 381
o5 7 19 | 29 | 37 | 44 | 56 _ o5 4 11 25 | 37 | 58
622 | 617 | 612 | 607 | 600 | 591 Maxint. 497 | 496 | 494 | 490 | 484
(Torque ) : 44Nm
( Speed ) : 600r/min
|:| Cont.
Int.
www.rudiflex.com



NX RUDIFLEX THC

BMM Orbit Hydraulic Motor With Spool Valve

H BMM Installation
Y* ( End port Y* )

lange C,C1 All 2-hole oval flange All
15.2+0.3 15.2+0.3 15.240.3 15.2+0.3
L1
P(A,B) LA = P(A,B) LA -
© @
T T ] AN N T AN
: INY) )
- S
=} H
+ [ts)
0 =)
3 =
o ¢63-g.05
D31.5 -0.06
N
0 9 o
3 ~ 3
[ I
[le]
)
|
5 5
ﬁ D60 ﬁ ©60
- n
- -
wn w
< <

2-$9 0.2
o3 N 4
0 D
Q \
.
T N, ©45
80
10 deep
97
C 3-M6
C1 3-1/4-28UNF
BMM-8 BMM-12.5 BMM-20 BMM-32 BMM-40 BMM-50
L 3.5 5.5 8.5 135 17 21.5
L1 104.5 106.5 109.5 114.5 118 122.5
L2 107 109 112 117 120.5 125

10 www.rudiflex.com



NX RUDIFLEX THC

BMM Orbit Hydraulic Motor With Spool Valve

Hl BMM Installation

lange C,C1

S* ( Side port S* )
All 2-hole oval flange All

®

.00/

9_

®31.5 ?o.os

345

P60

LT Xen

P(A,B)
—_—

—

@)

-
]
A

11.7

4.7

30.450.18

10 deep

C 3-M6

C1 3-1/4-28UNF

45

®63 %05
o~
% o
N ™
[ I
[1s)
w
§ 60
5
-
P(A,B)
1
Sraan
SN
T I I T I T
~
3 30.45:0.14 ~ +
) 450
2-09 £0.2
o8 N d
PN %
g N
T N P45
80
97

BMM-8 BMM-12.5 BMM-20 BMM-32 BMM-40 BMM-50
L 3.5 5.5 8.5 13.5 17 21.5

L1 106 108 111 116 119.5 124
L2 108.5 110.5 113.5 118.5 122 126.5
www.rudiflex.com

11



NX RUDIFLEX THC

BMM Orbit Hydraulic Motor With Spool Valve

Bl SHAFT VERSION

P1: ®16 Cylindrical shaft, parallel key5 x5 x 16 P2: ®©15.875Cylindrical shaft, parallel key4.8 x 4.8 x 19.05
A-A AA
5 16 50 5 19.05 5
|A ‘ | ‘ ) |A ’ .8-003
| . ; 1N
o |- =Ml . - = / oS 0 f K ~ SS
5 % 81— |
14|A Iq ' Z 14 A |<] '
28.5-8.5 g 28.5-8.5

K1: ®16.5involute splined shaft B17 x 14 DIN5482

0
-0.11

M6
P17

Do

P16.5

14

<] : Motor mounting surface

0
28.5-0.5

Hl DIRECTION OF SHAFT ROTATION: STANDARD

B A
j — r e B e
Direction of shaft ration: Standard B %}) <

When facing shaft end of motor, shaft to rotate: !
Clockwise when port “A” is pressurized.
Counter—clockwise port “B” is pressurized.

%J
>

12 www.rudiflex.com



NX RUDIFLEX THC

BMM Orbit Hydraulic Motor With Spool Valve

W ORDERING CODE

4 5 6 7
BMM | — / _
Pos.1 | 2 3 4
Series | Disp Output Flange
8 P1 ® 16 Cylindrical shaft, parallel key5x5x 16 C 3-M6 Flange, pilot®31.5
125
20
BMM 32 P2 ®15.875 Cylindrical shaft, parallel key4.8 x 4.8 x 19.05 C1 | 8-1/4-28UNF Fange, pilot® ®31.5
40
50 | K1 ®16.5 involute splined shaft, B17 x 14 DIN5482 All | 2-®9 Oval fange, pilot® ©63
5 6 7
Ports )
Code| Special features Rotation
Ports(A,B)(deep) Drain port T(deep) direction
(End port Y*)
Y1 | G3/8(12),G1/8(8) Omit| Standard |Omit/Standard
Y2 | 9/16-18UNF(12),3/8-24UNF(8)
S*(Side port S#%)
S1 | G3/8(12),G1/8(8) L |Opposite
S2 | 9/16-18UNF(12),3/8-24UNF(8)
www.rudiflex.com

13




NX RUDIFLEX THC

BMR Orbit Hydraulic Motor With Spool Valve

l BMR INTRODUCTION

This series of motor, with its shell made of ductile cast iron of adequate intensity, can be applied to situations
with less load and interbval operation, widely to agriculture, forestry, plastics, machine tools and min
machines, such as the mould height adjustment of the injection molding machine, the cleaner, the sawmill

the worktable etc.

Bl BMR CHARACTERISTICS

1. The output shaft, with the deep groove ball bearing, can bear certain axial force and radial force.
2. With the axial oil distrbution structur, it is of smaller size and less weight.
3. With two inner check valves, no drain connection.

4. With cycoid group with the roller, it has a small friction and high mechanical efficiency.

Hl BMR TECHNICAL DATA

Displacement.(mi/r) 51.7 80.5 100.5 126.3 160.8 200.9 252.6 321.5 401.9
cont. 14 14 14 14 14 14 11 9 7
WERSEEEATICh 175 175 175 175 175 175 14 11 9
Drop (Mpa)
peak. 20 20 20 20 20 20 16 13 11
cont. 93 152 194 237 310 369 380 380 380
Max.torque (Nm) int. 118 189 236 296 378 450 470 470 470
peak. 135 216 270 338 433 509 540 540 540
Max.Speed(cont.)(r/min) 770 745 595 475 370 295 235 185 150
Max.Flow(cont.)(L/min) 40 60 60 60 60 60 60 60 60
Max.Output.Power(cont.) (Kw) 7 10 10 10 10 8 6 5 4
Weight(Kg) 6.5 6.9 7.0 7.3 75 8.0 8.5 9.0 11

Intermittent operation the permissible values may occur for max.10% of every minute,
Peak load:the permissible values may occur for max.1% of every minute.

14 www.rudiflex.com



NX RUDIFLEX THC

BMR Orbit Hydraulic Motor With Spool Valve

Hl BMRY TECHNICAL DATA

BMRY BMRY BMRY
160 200 250

Displacement.(mi/r) 51.7 80.5 100.5 126.3 160.8 200.9 252.6 3215 401.9
cont. 175 17.5 175 175 175 17.5 14 12 10
E";’;F()ﬁsz;”e' int. 20 20 20 20 20 19 16 14 12
peak. 22 22 22 22 22 20 18 15 14
cont. 110 189 236 296 378 450 470 485 500
Max.torque (Nm) int. 135 216 270 338 433 486 540 573 614
peak. 144 225 281 353 450 511 579 614 710
Max.Speed(cont.)(r/min) 770 745 595 475 370 295 235 185 150
Max.Flow(cont.)(L/min) 40 60 60 60 60 60 60 60 60
Max.Output.Power(cont.) (Kw) 7.5 12 12 12 12 11 9.5 75 6.5
Weight(Kg) 6.9 7.3 7.4 7.7 7.9 8.4 8.9 9.4 11.4

Intermittent operation the permissible values may occur for max.10% of every minute,
Peak load:the permissible values may occur for max.1% of every minute.

B BMR PERFORMANCE DATA

BMR 80[80.5ml/r]
Pressure (Mpa) Max.cont. Max.int.
BMR 50[51.7ml/r
Pressur(g (Mpa) ] Max.cont. Max.int. ‘ 5 ‘ 7 ’ 9 ‘ 10 ‘ 12 ‘ 14 | 19 ‘ U0 |
5 | 7 [ 9 10| 12]14] 16 |175] 5 || 48 | 58 | 84 [ 106 129
o | " || 61 | 58 | 52 | 46 | 40
5 34 | 44 | 58 | 65 | 75 | 88 10 50 | 74 | 96 | 106 | 126 | 145 | 170
| " || 94 | 85 | 77 | 77 | 72 | 50 = ||| 122 | 116 | 112 | 108 | 106 | 99 | 60
10 35 | 45 | 61 68 | 79 | 94 | 107 | 119 § 20 54 | 76 | 100 | 109 | 131 | 152 | 174 | 193
= ||| 188 | 179 | 167 | 163 | 154 | 137 | 119 | 98 5 |7 || 243 | 239 | 231 | 219 | 206 | 192 | 176 | 152
£ 15 34 | 48 | 62 | 72 | 87 | 100 | 108 | 122 . 30 50 | 72 | 96 | 104 | 128 | 148 | 172 | 191
Z | " || 285|279 | 271 | 263 | 252 | 232 | 213 | 187 | > || 362 | 358 | 356 | 350 | 349 | 335 | 325 | 300
20 34 | 46 | 60 | 68 | 82 | 95 | 109 | 125 40 45 | 70 | 95 | 104 | 125 | 146 | 171 | 188
| “7 || 379 | 377 | 367 | 363 | 348 | 332 | 304 | 272 | || 484 | 480 | 478 | 476 | 470 | 468 | 440 | 438
30 32 | 43 | 59 | 66 | 79 | 94 | 107 | 121 50 41 | 68 | 91 | 101 | 122 | 145 | 168 | 186
| ©" || 578 | 571 | 563 | 556 | 544 | 533 | 502 | 467 | > || 610 | 608 | 606 | 603 | 600 | 598 | 550 | 520
Maxcort. | 40 30 | 40 | 57 | 65 | 78 | 91 [ 105 | 120 waxcont | 60 35 | 65 | 88 | 96 | 120 | 142 | 164 | 182
| || 762 | 760 | 755 | 752 | 740 | 726 | 702 | 672 cont 726 | 723 | 720 | 718 | 710 | 700 | 698 | 680
45 29 | 39 | 56 | 64 | 77 | 89 | 104 | 120 . 30 | 58 | 81 | 93 | 114 | 136 | 158 | 175
| || 858 | 855 | 851 | 847 | 837 | 817 | 798 | 772 845 | 834 | 820 | 802 | 789 | 767 | 754 | 730
et | 50 25 | 36 | 52 | 59 | 72 | 84 | 98 | 113 — ? 19 | 48 | 76 | 88 | 108 | 132 | 151 | 168
|~ |1 952 | 942 | 927 | 908 | 882 | 854 | 834 | 803 910 | 895 | 881 | 867 | 852 | 830 | 806 | 787

www.rudiflex.com 15



NX RUDIFLEX THC

BMR Orbit Hydraulic Motor With Spool Valve

H BMR PERFORMANCE DATA

BMR 125[126.3ml/r]
Pressure (Mpa) Max.cont. Max.int.

‘5’7‘9‘10‘12‘14‘16‘17.5‘

BMR 100[100.5ml/r]
Pressure (Mpa) Max.cont. Max.int.

5 | 7| 9 10| 12]14]16][175]

o |[ 64 [ 90 [ 118 [ 134 | 154 5 ;; 13026 12470 12613
49 | 48 | 46 | 42 | 38
0| 65 | 93 | 122 | 134 | 155 | 183 | 210 10 3:1; 17174 17542 157 92 24050 22290 22500
% | 94 | 93 | 91 | 80 | 60 | 48 80 | 114 | 150 | 170 | 200 | 221 | 254 | 292
= |20|| 82| 93 1211135 | 153 | 184 | 208 | 236 | = | 20 || o0 | joe | 454 | 151 | 146 | 142 | 120 | 114
5 192 | 188 | 184 | 178 | 171 | 168 4 158 146 | o 78 | 112 | 149 | 169 | 198 | 220 | 252 | 290
8 30| 81 | 90 | 118 130 | 150 | 180 | 200 | 232 g 130 || ;5 | 535 | 208 | 222 | 220 | 218 | 199 | 170
2 296 | 204 | 200 | 200 | 288 | 282 | 270 | 258
a|| 55 | 8 [ 115|126 [ 146 | 181|206 | 228 40 || 312 | 311 | 307 | 300 | 208 | 204 | 270 | 252
387 | 380 | 369 | 361 | 356 | 348 | 338 | 320 231 307300298 264 219 2%
so || 46 | 77 | 108 | 121 146 181 ) 200 | 221 50 || 391 | 383 | 384 | 380 | 372 | 362 | 346 | 330
484 | 479 | 472 | 463 | 452 | 445 | 428 | 410 91 386 384 380 372 %62 3d6 3
vocens | 60 || 34 | 62 | 98 | 110 [ 136 | 170 | 186 | 199 | waxcon |60 || 22 | 98 | 136 | 160 | 291 | 220 | 250 | 282
583 | 567 | 560 | 555 | 540 | 536 | 528 | 516 70| 468 404 | 450 aap 234 a2 a0
70 || 30 | 63 | 97 | 110 ] 138 | 170 | 190 | 210 701 548 | 544 | 540 | 541 | 538 | 535 | 530 | 496
680 | 672 | 662 | 650 | 640 | 635 | 620 | 606 SR A 90 I SR o e
woc | 75 || 20 | 54 | S0 | 106 | 130 | 165 | 188 | 200 | weums |75 || 32| 79 | 126 | 148 180 | 208 | 234 | 262
728 | 720 | 710 | 695 | 681 | 667 | 650 | 634

BMR 160[160.8ml/]

Pressure (Mpa) Max.cont. Max.int. Ex?si?g[(ﬁga?mvr] " ! Maint
jax.cont. ax.int.
T e el n e e
5 || 100 | 142 ) 188 | 207 129 | 176 | 230 | 256
20 | 26 | 21 | 19 5 || 29 78| 20 2
10 || 104 | 146 | 191 | 211 ) 245 | 282 | 330 133 | 182 | 236 | 261 | 310 | 352 | 400
62 | 60 | 58 | 49 | 45 | 32 | 25 10 || S e | o |
20 || 102 | 148 ) 194 | 218 ) 251 | 290 | 338 | 368 131 | 181 | 232 | 256 | 308 | 354 | 400 | 431
124 | 120 | 118 | 114 | 109 | 104 | 99 | 94 20

929 97 94 92 88 83 74 64

96 | 141 | 186 | 215 | 248 | 288 | 335 | 364

£ =
s |30 £ 126 | 176 252 400 | 430
3 183 | 181 | 179 | 176 | 166 | 158 | 144 | 132 | S |30 299 | 252 | 308 | 353 | 400
H s 149 | 147 | 144 | 141 | 135 | 126 | 113 | 105
87 | 136 | 180 | 206 | 248 | 286 | 330 | 358 | &
40 112 | 168 | 224 | 248 | 304 | 350 | 393 | 423
246 | 242 | 240 | 235 | 231 | 219 | 200 | 181 40
T roe T 175108 235 278 1320 T 350 200 | 197 | 194 | 191 | 185 | 174 | 160 | 151
50 94 | 154 | 220 | 243 | 204 | 343 | 384 | 414

309 | 307 | 300 | 295 | 287 | 278 | 262 | 247 50
58 111 | 168 | 191 | 232 | 271 | 312 | 342

252 | 249 | 246 | 243 | 238 | 228 | 212 | 194

Max.cont. 60 Max.cont. 78 144 213 236 287 339 382 410
371 | 367 | 350 | 354 | 346 | 338 | 323 | 306 60
304 | 301 | 208 | 294 | 286 | 276 | 262 | 243
47 | 104 | 160 | 190 | 228 | 267 | 301 | 338
70 67 | 135 | 206 | 228 | 277 | 336 | 375 | 408
435 | 430 | 421 | 415 | 403 | 393 | 381 | 365 70
355 | 353 | 349 | 340 | 329 | 316 | 300 | 288
vour. [R5 ISR AR U N e .. 58 | 125 | 197 | 220 | 270 | 321 | 360 | 398
ax.int. lax.int.
470 | 463 | 450 | 441 | 431 | 420 | 405 | 389 75

382 | 379 | 373 | 362 | 350 | 337 | 322 | 312

Cont.

(Torque ) : 150Nm
( Speed ) : 450r/min

0

Int.

16 www.rudiflex.com



NX RUDIFLEX THC

BMR Orbit Hydraulic Motor With Spool Valve

l BMR PERFORMANCE DATA

Flow(L/min)

Max.cont.

Max.int.

Flow(L/min)

Max.cont.

Max.int.

BMR 250[252.6ml/r]
Pressure (Mpa)

Max.cont.

Max.int.

s | 7| 9 [ 10] 1| 12] 14

BMR 315[321.5ml/r]

Pressure (Mpa)

Max.cont.

Max.int.

3]s | 7] 9 ]10]mn

5 172 | 240 | 300 | 338 | 352 5 110 | 199
20 19 18 16 15 14 12
10 173 | 242 | 308 | 340 | 351 | 405 | 462 10 108 | 190 | 272 | 360 | 400 | 451
42 38 36 33 33 28 22 31 30 29 28 26 25
20 170 | 238 | 301 | 339 | 350 | 402 | 460 _ 20 110 | 196 | 279 | 356 | 398 | 448
79 77 75 72 71 69 61 £ 61 60 59 57 55 53
30 160 | 231 | 298 | 330 | 347 | 398 | 455 % 30 106 | 186 | 270 | 355 | 390 | 442
117 | 114 | 111 | 109 | 108 | 103 95 o 91 90 89 86 84 82
40 141 | 221 | 298 | 327 | 342 | 394 | 445 40 100 | 179 | 262 | 350 | 382 | 436
157 | 155 | 153 | 150 | 148 | 146 | 135 123 | 122 | 120 | 117 | 112 | 110
50 122 | 206 | 287 | 321 | 332 | 382 | 438 50 92 169 | 252 | 342 | 373 | 432
196 | 193 | 190 | 177 | 175 | 170 | 163 154 | 153 | 151 | 147 | 140 | 136
60 101 | 190 | 278 | 312 | 328 | 369 | 424 vaxcont. | 60 86 159 | 241 | 339 | 369 | 428
236 | 233 | 230 | 227 | 225 | 221 | 208 T 185 | 184 | 182 | 177 | 172 | 170
70 86 176 | 262 | 298 | 302 | 353 | 416 70 77 146 | 235 | 324 | 342 | 412
276 | 273 | 270 | 266 | 264 | 255 | 245 217 | 216 | 213 | 208 | 201 | 200
75 60 163 | 254 | 286 | 291 | 345 | 410 vt | 75 66 132 | 212 | 303 | 332 | 402
297 | 294 | 290 | 286 | 282 | 277 | 266 o 232 | 231 | 228 | 222 | 216 | 214
BMR 400[401.9ml/r]
Pressure (Mpa) Max.cont. Max.int.
|3 a e[ 7 [ 8]59]
152
> 12
10 154 | 205 | 308 | 349
24 21 17
20 150 | 201 302 | 340 | 392 | 441
49 48 47 46 44 41
30 146 198 | 296 | 331 387 | 438
73 74 72 70 67
40 140 191 290 | 321 381 421
98 97 96 95 94 92
50 132 182 | 281 315 | 376 | 402
122 121 118 115 112 110
60 128 176 | 272 | 312 362 | 389
146 145 143 140 138 132
70 110 171 259 | 301 341 379
170 168 166 | 162 160 154
75 98 162 | 232 | 292 320 | 356
182 180 178 176 174 | 170
(T ) : 232N \:| Cont
orque ) : m
( Sp(—ged ) : 178r/min E Int.
www.rudiflex.com

17



WX RUDIFLEX THC

Hl BMR, BMRE Installation

2-hole oval flange All

P(A,B)
4-C -

52 =
53 - ™
[t} - o
g © &
©

I | 20]20 B

38 36

Mounting surface L

4-hole oval flange A [V

P(A,B)
4-C
201_20 / /
. Yar P
35 PXU ] =
¢ A 8
3 O A 2 8|
JA\J o
\/
— B
20|20
38 36
Mounting surface | .
Square flange C, C1
P(A,B) 4-C T
15 {
o = "L \B(I -
S T\ © °
g =t — A=~ —— — —q S
3 & \J/‘I\‘y ~ 1
| M
25 —| _E_
44 36 B
~Mounting surface | y

Note: C, C1 mounting are assembling to BMRS shaft

18 www.rudiflex.com

D130
©106.4+0.2

2-913.5

®130

55

108

$82.50.1

4-M10 (C)
(0r)4-3/8-16UNC(C1)



NX RUDIFLEX THC

BMR Orbit Hydraulic Motor With Spool Yalve

Hl BMR, BMRE Installation

Square flange A, A1

PAB) T 4-011
<
| S «© [Te]
E={ I B | B =
5l 8 °
© E ®
7070
90x90
38 36 B
107.5
Mounting surface L
Square flange A2 Il
P(A,B) T
g8 © | o
? S - 2
‘é —
6 || 6]
B
38 36 90%90
Mounting surface L 120x120
BMR-50 BMR-80 BMR-100 | BMR-125 | BMR-160 | BMR-200 | BMR-250 | BMR-315 | BMR-400
L 143 148 1515 156 162 169 178 190 204
L1 151 156 159.5 164 170 177 186 198 212
B 9 14 17.5 22 28 35 44 56 70

B BMRY Installtion

BMRY-50 | BMRY-80 | BMRY-100 | BMRY-125| BMRY-160 | BMRY-200 | BMRY-250 | BMRY-315 | BMRY-400
L 150 155 163 169 176 185 197 211

158.5
L1 158 163 166.5 171 177 184 193 205 219
B 9 14 17.5 22 28 35 44 56 70

www.rudiflex.com 19



NX RUDIFLEX THC

BMR Orbit Hydraulic Motor With Spool Valve

B BMR,BMRE PORTS CODE

e P(A. B)(scep) T (deep)

Y G1/2 (15) M8 (13) M14x 1.5 (12)
Y1 M18 x 1.5 (15) M8 (13) M14x 1.5 (12)
Y2 M22 x 1.5 (15) M8 (13) M14x 1.5 (12)
Y4 ZG3/8 (15) M8 (13) M14x 1.5 (12)
Y5 7/8-14UNF (15) — M14x 1.5 (12)
Y7 ZG1/2 (15) M8 (13) M14x 1.5 (12)
Y8 NPT1/2 (15) M8 (13) M14x 1.5 (12)
Y9 NPTF1/2 (15) 5/16-18UNC (13) 7/16-20UNF (12)
Y10 G1/2 (15) M8 (13) G1/4 (12)
Y15 7/8-14UNF (15) 5/16-18UNC (13) 7/16-20UNF (12)

Note:P(A, B)--Ports, C-—Mounting Thread (—Indicates no this thread ), T—-Drain connettion

B BMR,BMRE — SHAFT VERSION

P1: ®25 Cylindrical shaft, parallel key8 x 7 x 32 P2: ®30 Cylindrical shaft, parallel key8 x 7 x 32
43 43
A-A A-A
5 32 8 —00.036 5 32 8 —8.036
1A 2 1A 2
/ 7
83 ! % . | 7
tEi == =
& | e © 1
20 : 20 :
TA TA
54 F 54 F

P3: ®25.4 Cylindrical shaft, parallel key6.35 x 6.35 x 32 P4: ®25.4 Cylindrical shaft, Woodruff key ®25.4 x 6.35

43
A-A , 40 A-A
5 32 ) A
i 6.35.0036 185 | - 6.35.0036
1A B i (3 .
]
83 | o % gg| 2 o
g3 - o3 33 © o3
HiEny el 1 e WA | R R
= g 8 ol o s
N e | e el = s
I
! _t
20 B 16 |
TA r] A <
54 49
|

< : Motor mounting surface

20 www.rudiflex.com



NX RUDIFLEX THC

BMR Orbit Hydraulic Motor With Spool Valve

B BMR,BMRE — SHAFT VERSION

P5: ®32 Cylindrical shaft, parallel key10 x 8 x 45

56

A-A

10 -3.036

IA 3
3

0
-0.05

HILT
1

|
i
|
| [Te}
|l V R
/ i
|
20 ‘

TA
65
|

35 02

D32
M8

P6: ®©31.75 Cylindrical shaft, parallel key7.96 x 7.96 x 32

P52: ®32 Cylindrical shaft, parallel key10 x 8 x 45

56
A-A .
5 45 10 -0.036
IA =)
/
o ! . 7
=<l =TT | I
S =] ] Zy e 3
© |
i
20 ;
TA |<]
68
|

H1: ®30 Splined shaft, 6-30x25x 6

2588

-0.070
-0.118

6-6.2

A-A
©21.4 20579

50 43
8.5 32 A 7.96.0%2 21
1A 3 1A 12,
/
c>§ e } P 7 QE 1+“ 2
w| 2T | o o Sl Ehr— - &
MER %4 e s 2
3ls // 3
20 3 20 4
TA r] I
60.5 | 54
H2: ®25 Splined shaft, 6-25x21x5 H3: ®25.3 Splined shaft, 6-25.3x21.4x6.2
43 43
A-A
28 -0.160 28
|A \(% $21-0.370 IA >(0’
I /
A = 7
g g § s
]% ]
20
A = q
I 54 A 54
< : Motor mounting surface
www.rudiflex.com

21



WX RUDIFLEX THC

B BMR,BMRE — SHAFT VERSION

K4: ®24.5 involute splined shaft B25 x 22 DIN5482 m: 1.6 Z:14  K10: ®31.75 involve splined shaft 14-DP12/24 a=30°

43 47
30 30
A X‘S " \(g A-A
/ - /
OE o | | © c§ N 1)
: ;m ; : 1l : _
o L 2
20 q IA q
|A 54 54
K13: ®31.75 involute splined shaft 14-DP12/24 a=30° K14: ©31.75 involute splined shaft 14-DP12/24 a=30°
56 47
36 A-A 30 A-A
1A Xbo)o |A X(%
: | =ri(liF7%
s zlo %W
‘s “alz (I P 9 :
elgh ] 8 el 1 H sl - m - N -
; e = O
20 20 '
<
' 67 i » 54

Note: BMRE series motors don’t include the
following output shafts: P2, P5, P52, P6, H1,
K4, K10, K13, K14.

< ': Motor mounting surface

22 www.rudiflex.com



NX RUDIFLEX THC

BMRS Orbit Hydraulic Motor With Spoor Valve

H BMRS Installation

2-hole oval flange All

4-C 2-13.5
T
28.4 /
248" 14.2
-
ary _B_
D
- i
o5 23 3 y 2 ~
¢ 8 e 1 gl 3 :
< 9 2 © s < 8
3 ® /7 8
By a
&%
| A 4H
11 B
28 || 17 ©88.5%0.1
54
42.7
Mounting surface L
C,C1 Square flange
4-C
PA.B) T 4-M10(C)
28.4 } ©82.5:0.1 | / (or)4-3/8-16UNC( C1)
14.2 — :
15 N 1
@f%} & i :
@\
\y _
°$ 3 o) o S
2| | a _ el =) L =] R
S & e —E g &
=Y <
@) -
$&ﬂm
¥ _B_
25
o 447
427 5
Mounting surface L

BMRS-50 | BMRS-80 | BMRS-100 | BMRS-125 | BMRS-160 | BMRS-200 | BMRS-250 | BMRS-315 | BMRS-400
L 151 156 159.5 164 170 177 186 198 212

B 9 14 17.5 22 28 35 44 56 70

www.rudiflex.com 23



BMRS Orbit Hydraulic Motor With Spool Valve

NX RUDIFLEX THC

B BMRS PORTS CODE

P(A. B)(deep)

Y9

Y10

Y17

Y19

Y20

G1/2 (15)
7/8-14UNF(15)
ZG1/2(15)
NPTF1/2(15)
G1/2(15)
3/4-16UNF(15)
®11(15)

M18 x 1.5(15)

M8 (13)

P(A. B)—-Ports, C-——Mounting Thread (—Indicates no this thread ) , T—-Drain connettion

Bl BMRS SHAFT VERSION

0

P4: ©25.4 Cylindrical shaft, Woodruff key®25.4 x 6.35

5/16-18UNC(13)

M14 x 1.5(12)

7/16-20UNF(12)

G1/4(12)

7/16-20UNF(12)

G1/4(12)

7/16-20UNF(12)

7/16-20UNF(12)

G1/4(12)

®25.4 Cylindrical shaft, parallel key6.35 x 6.35 x 32

40

32

A-A

6.35 -3,036

M8

~X
0%

P1: ®25 Cylindrical shaft, parallel key8 x 7 x 32 P3:
43
A-A
5 32 S-g‘oss
IA !
/
3 o % g
5| o[ s I 3
vl = | | q & 9
g il S g
20
TA d
48

0

24

45

D28.5

40

0€

<X

45

P28B.5

40 A-A
18.5:0.1_ 1" 6.35 S0 5 32
\ ; 1A
S o o~ ©
;| 2 a$ Sk
i m— e _ | 2
| £ ¥ ==
e = N f:r P
145 | | 20
A
|
45 q A
< : Motor mounting surface
www.rudiflex.com

0
-0.2

28.2

A-A

P33: ©25.4 Cylindrical shaft, parallel key6.35 x 6.35 x 32

6.35 —g.oas

0
-0.2

28.2




NX RUDIFLEX THC

BMRS Orbit Hydraulic Motor With Spool Valve

Bl BMRS SHAFT VERSION

P89: ® 25.4Cylindrical shaft pin hole ®9.53

15.47 AA 018 18
9.53"0
A " ° A
el ' el
= © -3 0
Ml g— - é <| s HH $—
NN © % ' Q| 1 ©
e = e =
40 ' 40
| A ( | A (
45 45

P93: ® 25.4Cylindrical shaft pin hole ®9.5

A-A

P95: ® 25.4Cylindrical shaft pin hole ®6.4, Woodruff key®25.4 x 6.35 P96: ®25.4Cylindrical shaft pin hole ®8

A-A 11.7£01
185 _| A 6.35-0.03 |A

N }
; s g \4 P
oo © °3 °g 1 ]
<« (. - ol N 3
< 8 =& 8l [ M
e
e
\ ©6.420.1 40
12.7+0.1 7L
|A & K A K
45 45

P97: ®25.4Cylindrical shaft pin hole ©10.3

A-A
$8+0.08

$9.5+0.1

H4: ®25.3 Splined shaft, 6-25.3x21.4x6.2

40
15.4710.1 A-A A-A
©10.3£0.1 26 N 016
|A .3+0. A s(% ©21.4 037
' /
® (6]
gl z o 88| 2 so
°3| 2 2 S9 0 S
8| =1 s 8| HI—= 8 s
R 8| 2 ®
14.5 )
40 K | K 6x60°
A A
' 45 45

<] : Motor mounting surface

www.rudiflex.com

25



NX RUDIFLEX THC

BMRS Orbit Hydraulic Motor With Spool Valve

B BMRS SHAFT VERSION

K8: ®22.1 involute splined shaft, 13-DP16/32

0
01

®22.1
5/16-18UNC
5

|
D2

o

|
A 382305

43

|+ Motor mounting surface

26 www.rudiflex.com



NX RUDIFLEX THC

BMRW Orbit Hydraulic Motor With Spoor Valve

B BMRW Installation

36 10 2-G1/2" ©147.6
A 15 M14X1.5
Mounting surface / ‘ "
(| §
Sl ]
P o3 A 3
N — : < =
s ] 7Nk < °
fan ]
-/ i
= A
9
B
47 L 132X132
BMRW-50 | BMRW-80 | BMRW-100| BMRW-125 | BMRW-160 | BMRW-200 | BMRW-250 | BMRW-315 | BMRW-400
L 108 113 117 121 127 134 143 155 169
B 9 14 17.5 22 28 35 44 56 70

B BMRW PORTS CODE

P(A‘ B)(deep)

Y G1/2 (15) — M14 x 1.5(12)

P(A. B)—-Ports, C——Mounting Thread (—lIndicates no this thread ) , T—-Drain connettion

B BMRW

Z: O35 Tapered shaft, taper1:10, parallel key B6 x 6 x 20

A-A
13 44 20 6 0
IA 1 -0.039
o °F
Zr'g ;iz i PR I | - i
o|a ©
=
A/
<]1:10 <
36
58 <] : Motor mounting surface
107

www.rudiflex.com 27



NX RUDIFLEX THC

BMRW Orbit Hydraulic Motor With Spool Valve

W BMRW1 Installation

P(A.B) T 4-R15 4-913.5 P147.6

Mounting surface

45°

23

S
U

©82.5-39%

B e

42 42 B

132X132

BMRW1-50 | BMRW1-80 BMRW1-100BMRW1-125BMRW1-160BMRW1-200BMRW1-250BMRW1-315BMRW1-400
L 125 130 134 138 144 151 160 172 186

B 9 14 17.5 22 28 35 44 56 70

B BMRW1 PORTS CODE

P(A\ B)(deep)

% G1/2 (15) — M14 x 1.5(12)
Y5 7/8-14UNF(15) — M14 x 1.5(12)
Y10 G1/2 (15) — G1/4 (12)

P(A. B)—-Ports, C——Mounting Thread ( —Indicates no this thread ) , T-—Drain connettion

28 www.rudiflex.com



NX RUDIFLEX THC

BMRW1 Orbit Hydraulic Motor With Spool Valve

B BMRW1 SHAFT VERSION

P1:

52

45

1A

0¢

-0.020
0.041

P25 .o,

M8
-

<X

P6: ®32 Cylindrical shaft, Cylindrical shaft pin hole ® 8.1,

20

TA

97

P40

parallel key 10 x 8 x 45

®25 Cylindrical shaft, Parallel key 8 x 7 x 45

A-A
0
8 -0.036

-0.2

28

P5: ®32 Cylindrical shaft, parallel key 10 x 8 x 45

56.5

45

1A

0€

<X

0
-0.05

M3
T
|

$32

Z: ®35 Tapered shaft, taper1:10, parallel key B6 x 6 x 20

20

P40

TA

107

A-A

10 -gvose

35.02

5, 45 IA | » A_A 10—0.336 22 |A 36 AA 0
2 } 55002 ] 6 -0.039
NE! o < 117 % o ﬁj{ d 3
S Ko 11 T s - 3| 2 =B
20 ] 1= kil
P ©45)
20 A . ©
30 I I 4
107
Z1: ®31.75 Tapered shaft, taper1:8, parallel key 8 x 7 x 25
A-A
/ﬂbo) 8-3035
5 2l o
e SIE
3 sl 1°
<] : Motor mounting surface
<
www.rudiflex.com 29



NX RUDIFLEX THC

BMR. BMRS. BMRW Series Mortor

Il BMR. BMRS. BMRW Series Mortor

Direction of shaft ration: Standard

When facing shaft end of motor, shaft to rotate:
Clockwise when port “A” is pressurized.

Counter—clockwise port “B” is pressurized.

B BMR,BMRW PERMISSIBLE SHAFT LOADS

P (N) Radial force

BMR
P _
7000 *
5000
\ 1500N
PR
3000 - P =
E—— *
1000 2000N
Speed(r/min
0 200 400 600 800 peed( ) 30 S
P(N) Radial force
P BMRW
160000
A
120000 B
A:n=50 r/min
C B:n=200 r/min
8000 C:n=800 r/min
4000 — | .
0+
0 20 40 60 80 100 L(mm)
30 www.rudiflex.com



NX RUDIFLEX THC

BMR. BMRS. BMRW Series Mortor

B BMRE PERMISSIBLE SHAFT LOADS

Pr(N)A
20000
18000
16000 .

14000 A
200rpm \

12000 — pr— "\\ SN
10000 'ﬂ\ BV

8000 =
6000 \L _ L1 X/j —
- | _—

4000 p==% — |

2000

| ; |
e

| —

80 70 60 50 30 20 40 10 0 -10 -20 -30 | (mm)

www.rudiflex.com



NX RUDIFLEX THC

BMR. BMRS. BMRW Series Mortor

B BMR. BMRE. BMRS. BMRW ORDERING CODE

1 3 4 5 6 7
BMR/BMRE | — / —
Pos.1 2 3 4
Series | Disp Output Flange
50 P1 | ®©25 Cylindrical shaft, parallel key8 x 7 x 32
A 2-®13.5 Oval flange, pilot®82.5 x 6

P2 | ®30 Cylindrical shaft, parallel key8 x 7 x 32 I ge. P X

80 o
P3 | ®©25.4 Cylindrical shaft, parallel key6.35 x 6.35 x 32
P4 | ©25.4 Cylindrical shaft, Woodruff key®25.4 x 6.35 AlV | 4-©13.5 Oval flange, pilot®82.5x 6

100
P5 | ®32 Cylindrical shaft, parallel key10 x 8 x 45
P52 | ®32 Cylindrical shaft, parallel key10 x 8 x 45 C | 4-M10 Square flange, pilot®44.45 x 2.5

125

BMR/BMRE P6 | ®31.75 Cylindrical shaft, parallel key7.96 x 7.96 x 32

160 | H1 | ®30 Splined shaft, 6-30x25x 6 C1 | 4-3/8-16UNC Square flange, pilot ®44.45 x 2.5
H2 | ®25 Splined shaft, 6-25x21x5

200 | 43 | ©25.3 Splined shaft, 6-25.3x21.4x6.2 A | 4-®11Square flange, pilot®82.5 x 6
K4 | ®24.5 involute splined shaft, B25 x 22 DIN5482

250 .
K10 | ®31.75 involute splined shaft, 14-DP12/24 a=30° A1 | 4-®11 Square flange, pilot®80 x 6
K13 | ®31.75 involute splined shaft, 14-DP12/24 a=30°

315
K14 | ©31.75 involute splined shaft, 14-DP12/24 a=30° A2ll| 4-® 13 Square flange, pilot® 100 x 6

400 | £1 | ©28.56 Tapered shaft, taper1:10, parallel key 5x5x 14

BMRE series motors don’t include the following output shafts:

32

P2, P5, P52, P6. H1, K4, K10, K13, K14

www.rudiflex.com



NX RUDIFLEX THC

5 6 7
Ports Rotati
Code . Special features _° a !on
Ports(A,B)(deep) |Drain port T(deep) direction
Y G1/2(15) M14 x 1.5(12)
Y1 M18 x 1.5(15) M14 x 1.5(12)
Y2 M22 x 1.5(15) M14 x 1.5(12)
Y4 ZG3/8(15) M14 x 1.5(12) Omit Standard  |Omit|Standard
T7 |With dustproof ring| L |Opposite
Y5 | 7/8-14UNF(15) M14 x 1.5(12)
T10 |With high pressure
Y7 ZG1/2(15) M14 x 1.5(12) seals
Y8 NPT1/2(15) M14 x 1.5(12)
Y9 NPTF1/2(15) 7/16—20UNF(12)
Y10 G1/2(15) G1/4(12)
Y15| 7/8-14UNF(15) | 7/16-20UNF(12)

www.rudiflex.com

33



NX RUDIFLEX THC

BMR. BMRS. BMRW Series Mortor

Bl BMR. BMRS. BMRW ORDERING CODE

BMRS

Pos.1

Series

Disp

Output

Flange

BMRS

50

80

100

125

160

200

250

315

400

P1

® 25 Cylindrical shaft, parallel key8 x 7 x 32

P3

®25.4 Cylindrical shaft, parallel key6.35 x 6.35 x 32

P4

®25.4 Cylindrical shaft, Woodruff key ©25.4 x 6.35

P33

®25.4 Cylindrical shaft, parallel key6.35 x 6.35 x 32

P89

®25.4 Cylindrical shaft pin hole ® 9.53

P93

®25.4 Cylindrical shaft pin hole® 9.5

P95

®25.4 Cylindrical shaft pin hole ®6.4, Woodruff key ®25.4 x 6.35

P96

®25.4 Cylindrical shaft pin hole ® 8

P97

®25.4 Cylindrical shaft pin hole ©10.3

H4

®25.3 Splined shaft, 6-25.3x21.4x6.2

K8

®22.1 involute splined shaft, 13-DP16/32

All

C1

2-®13.5 Oval flange, pilot®82.5x 2.8

4-M10 Square flange, pilot®44.45x 2.8

4-3/8-16UNC Square flange, pilot®44.45 x 2.8

34

www.rudiflex.com




NX RUDIFLEX THC
e

5 6 7
Ports
Code ports(A,B)(deep) |Drain port T(deep)| Special features ?i?;i:'ig:
Y G1/2(15) M14 x 1.5(12)
Y5 | 7/8-14UNF(15) | 7/16-20UNF(12)
Omit| Standard |Omit|Standard
Y7 | zG12(15) G1/4(12)
T21 | No case drain | L |Opposite
Yo | NPTF1/2(15) | 7/16-20UNF(12)
Y10 Gi/2(15) G1/4(12)
Y17| 3/4-16UNF(15) | 7/16-20UNF(12)
Y19 ®11(15) 7/16-20UNF(12)
Y20| M18x1.5(15) G1/4(12)

www.rudiflex.com

35



NX RUDIFLEX THC

BMR. BMRS. BMRW Series Mortor

Hl BMR. BMRS. BMRW ORDERING CODE

1 2 3 4 5 6
BMRW | — / —
Pos.1 2 3 4
Series Disp Output Flange
50 80 100
BMRW/| 125160200 | Z |®35 Tapered shaft, taper1:10, parallel key B6 x 6 x 20 4-®13.5 Square flange, pilot®82.5x 9
250 315 400
5 6 7
rors Special features Rotation
Code| ports(A,B)(deep) |Drain port T(deep)| P direction
] _|Standard
Y G1/2(15) M14 x 1.5(12) Omit Standard  |Omit
L .
Opposite
36 www.rudiflex.com




NX RUDIFLEX THC

1 2 3 4 5 6
BMRW1 | — / —
Pos.1 2 3 4
Series | Disp Output Flange
50 | P1 | ®25 Cylindrical shaft, parallel key 8 x 7 x 45
80
100 P5 | ®32 Cylindrical shaft, parallel key 10 x 8 x 45
125
BMRW1 160 | pe ® 32 Cylindrical shaft, Cylindrical shaft pin hole ®8.1, 4-®13.5 Square flange, pilot®82.5 x 9
parallel key 10 x 8 x 45
200
250
VA ®35Tapered shaft, taper1:10, parallel key B6 x 6 x 20
315
400 | Z1 | ©31.75Tapered shaft, taper1:8, parallel key 8 x 7 x 25

5 6 7
Ports .
; Special features Rotation
Code| Ports(A,B)(deep) |Drain port T(deep)| ©Pe€cid direction

G1/2(15) M14 x 1.5(12)

Y5 | 7/8-14UNF(15) | M14x1.5(12)

Omit Standard  |Omit|Standard

T7 |With dustproofring| L |Opposite

Y10

G1/2(15) G1/4(12)

www.rudiflex.com

37



NX RUDIFLEX THC

BS Orbit Hydraulic Motor With Spoo| Valve

l BS INTRODUCTION

This series of motor is with spool valve design, with the advanced geroler gear set and
ductile iron of adequate intensity. It can be applied to the situation with less load and
interval operation, and widely to agricultural machines, forestry machinery, plastic

injection machinery, mining machines, metal working machines, conveyors etc.

l BS CHARACTERISTICS

1. Compact volume, easy installation, especially for limited space working condition.
2. Using geroler gear set design, with the function of low friction, low starting pressure, high efficiency, smooth working

and longer working life.

3. Spool valve design with less side and weight.

N

. With two inner check valves, drain line can be closed.

5. With high pressure seal, the motor can be used in parallel orin series.

M BS TECHNICAL DATA

Displacement(ml/r)

cont.
Max.Pressure.Drop
(Mpa) int.
peak.
cont.
Max.torque
(N.m) int.
peak.

Max.Speed(cont.)(r/min)

Max.Flow(L/min )

Max.Output.Power(cont.)(Kw)

51.7 80.5

14

17.5

20

93

118

135

770

40

7

14

17.5

20

152

189

216

745

60

10

14

17.5

20

194

236

270

595

60

10

100.5

126.3

14

17.5

20

237

296

338

475

60

10

160.8

14

17.5

20

310

378

433

370

60

10

Intermittent operation the permissible values may occur for max. 10% of every minute
Peak load: the permissible values may occur for max. 1% of every minute

38

www.rudiflex.com

BS-200

200.9

12.5

15.5

18

320

398

460

295

60

252.6

11

14

16

380

470

540

235

60

321.5

11

13

380

470

540

185

60

BS-400

401.9

7

11

380

470

540

150

60



NX RUDIFLEX THC

BS Orbit Hydraulic Motor With Spool Valve

Il BS INSTALLATION

2-¢13.5hole oval flange Al

14
8 P(A,B)
V77 | 20 | 20
A ]
N _
o A B> o~
A\ )CJ o
‘ 1R H
52 ol |H 3| o o
99 | Qq R ® -| S o
sl e g 5|5
o 1H
-
A AN -
\\7 v 7@
RN

— 122 B \ T

Mounting surface 41.6

55

106.5

TYPE m BS-80 BS-100 BS-125 BS-160 BS-200 mm BS-400

107 112 115.5 120 126 133 142 154 168
B 9 14 17.5 22 28 35 44 56 70

B BS Ports Code

m

G1/2 (15) M8 (13) M14x1.5(12)
Y1 M18x1.5 (15) M8 (13) M14x1.5 (12)
v2 M22x1.5 (15) M8 (13) M14x1.5 (12)
Y9 NPTF1/2 (15) 5/6—18UNC (13) 7/16-20UNF (12)
Y10 G1/2 (15) M8 (13) G1/4(12)
Y15 7/8-14UNF (15) 5/6-18UNC ( 13) 7/16—20UNF (12)
Note:P(A. B)-—Ports, C——Mounting Thread ( —Indicates no this thread ) , T--Drain connettion

www.rudiflex.com 39



NX RUDIFLEX THC

BS Orbit Hydraulic Motor With Spoo| Valve

Bl BS SHAFT VERSION

P1: @25 Cylindrical shaft,parallel key 8x7x32 P3: ®25.4 Cylindrical shaft,parallel key 6.35x6.35x32
43 43
5 32 R A-A 5 32 - A-A
IA ){g |__. S»g.oas IA Xg |__’6.35-g.oas
/ m - / m
g . 0 S Bl , 0 -8
'g S| - TV -——§ S g S| - - ——§ g
© °
20 20
7y K] 7y K]
54 54
H3: ©25.3Splinedshaft, 6-25.32x21.47x6.25 H5: ©25.3Splinedshaft, 6-25.32x21.47x6.25
43 23.5
28 AA 12 A-A
©21.47:0.07 ©21.4720.07
|A >(% IA >,
< i 4l ]
5 o 22 S
2L o — s & sl el E—H—rer- &
N © 3 © ©
P /%4-44 b3 § (RN 8 <
\
20 6x60 18 660
IA ( | g
54 A g3

< : Motor mounting surface

40 www.rudiflex.com



NX RUDIFLEX THC

BS Orbit Hydraulic Motor With Spool Valve

Bl BS
1 2 3 4 5 6 7
BS — / —
Pos.1 2 3 4
Series | Disp Output Shaft Flange
28 P1 | ® 25Cylindrical shaft, parallel key 8x7x32
100
125 | P3 | ® 25.4 Cylindrical shaft, parallel key 6.35x6.35x32
BS | 160 All 2-®13.5 Oval flange polit $82.5x8
zgg H3 | ®25.3Splined shaft, 6-25.32x21.47x6.25
315
400 | H5 | ®25.3Splined shaft, 6-25.32x21.47x6.25
5 6 7
rore Special features Rotation
Code| Ports(A,B)(deep) |Drain port T(deep) P direction
Y G1/2 (15) M14x1.5(12)
Y1 | M18x1.5(15) M14x1.5(12)
Y2 | M22x1.5(15) M14x1.5(12)
Omit| Standard |Omit|Standard
Y9 | NPTF1/2 (15) | 7/16-20UNF (12)
Y10 G1/2 (15) G1/4 (12) L |Opposite
Y15|7/8-14UNF (15) | 7/16-20UNF (12)
www.rudiflex.com

41



NX RUDIFLEX THC

BMH Orbit Hydraulic Motor With Spool Valve

Hl BMH INTRODUCTION

This series of motor, with its shell made of ductile cast iron of adequate intensity, can be applied to situations
with less load and interbval operation, widely to agriculture, forestry, plastics, machine tools and min
machines, such as the mould height adjustment of the injection molding machine, the cleaner, the sawmill

the worktable etc.

B BMH CHARACTERISTICS

1. The output shaft, with the deep groove ball bearing, can bear certain axial force and radial force.

2. With the axial oil distrbution structur, it is of smaller size and less weight.

3. With two inner check valves, no drain connection.

4. With cycoid group with the roller, it has a small friction and high mechanical efficiency.

W BMH TECHNICAL DATA

BMH-200 BMH-250 BMH-315 BMH-400 BMH-500

Displacement(ml/r)

cont.
Max.Pressure.Drop
(Mpa) int.
peak.
cont.
Max.torque
(N.m) int.
peak.

Max. Cont. Speed (r/min)
Max.Flow(cont.)(L/min)
Max.Output.Power(cont.)(Kw)

Weight(kg)

203 253.7 318.9 405.9 4711
16 16 15 14 12
19 19 18 17 15
22 22 21 20 18
425 530 610 825 720
510 635 750 900 910
590 735 875 1055 1090
365 295 235 180 155
75 75 75 75 75
13.8 13.8 12.5 11.5 9.8
10.5 11 11.5 12.5 13

Intermittent operation the permissible values may occur for max. 10% of every minute
Peak load: the permissible values may occur for max. 1% of every minute

42

www.rudiflex.com



NX RUDIFLEX THC

BMH Orbit Hydraulic Motor With Spool Valve

Hl BMH PERFORMANCE DATA

BMH 200(203ml/r) BMH 250(253.7ml/r)
Pressure (Mpa) Max.cont. Max.int. Pressure (Mpa) Max.cont. Max.int.
[35 ] 7 [105] 14 | 16 [ 19 | [856 T 7 [105] 14 [ 16 [ 19 |
[ o1 792 | 282 T 118 | 242 | 311
5 25 | 24 | 23 I ) 19 18
| 1o || 92 | 191 [ 282 | 344 | 440 | 520 j0 || 126 | 251 | 326 | 421 | 550
48 47 46 44 42 38 ||| 38 37 | 36 34 30
o | 790 [Tes [ 280 [ 34z | 438 | si6 oo | | 124 | 250 [325 | 414 | 542 | 640
|~ || 96 | 95 | 94 | 92 | 90 | 88 | || 8 | 8 | 8 | 81 78 | 7
< 20 88 | 181 | 278 | 388 | 435 | 511 5 30 118 | 243 | 321 | 410 | 538 | 634
E [ || 144 | 148 | 139 | 180 | 114 | 101 £ | [ 116 | 113 | 111 | 105 | 95 | &4
s [w 86 | 172 | 270 | 384 | 432 | 506 S [ 40| [ 711 | 238 [ 815 [402 | 530 | 629
2 |7 || 198 | 192 | 191 | 188 | 186 | 171 2 {158 | 152 | 150 | 143 | 139 | 132
= 83 | 168 | 264 | 330 | 428 | 298 s || 106 [ 231 [ 310 | 395 | 523 | 621
241 | 240 | 238 | 234 | 230 | 228 | | [ 190 | 188 | 187 | 186 | 183 | 172
oo | 80 [ 156 [ 258 | a75 | 420 | 4o o | | 101 [228 [ 302 | 890 | 518 | 613
| " || 290 | 289 | 287 | 284 | 271 | 264 | | [ 230 | 229 | 227 | 224 | 217 | 209
70 75 | 149 | 249 | 362 | 419 | 489 70 96 | 218 | 294 | 381 | 512 | 602
334 | 333 | 331 | 329 | 324 | 320 | || 268 | 267 | 266 | 262 | 257 | 241
— 84 | 210 | 284 | 375 | 506 | 59
wescon | 75 | | 355 | a0 | ase | ase | 351 | 42 vescont | 7 || om7 | on | 26a | om0 | 275 | 270
| g0 || 58 | 124 [ 231 [ 338 [ 395 | 453 80 761 (20188 |27 3681 R497 681
| > || 382 | 381 | 380 | 374 | 365 | 360 | | [ 806 | 305 | 308 | 801 | 297 | 286
_ 41 | 119 | 228 | 824 | 387 | 446 Maxint. | 90 SO || R | e || e aE |l
Max.int. i 434 433 431 429 418 411 | [ [ 347 345 341 337 333 328
BMH 315(318.9ml/r) BMH 400(405.9ml/r)
Pressure (Mpa) Max.cont. Max.int. Pressure (Mpa) Max.cont. Max.int.
[35 [ 756 [ 10 [ 15 | 18 | [85 [ 556 | 7 [1o5] 14 [ 17
10 148 | 312 | 416 | 650 10 186 | 284 | 370
31 30 28 23 24 22 20
0 142 | 308 | 411 | 645 | 765 20 184 | 282 | 365 | 541 760 920
61 60 58 51 46 48 47 45 41 34 28
2 140 | 301 | 402 | 639 | 751 2 182 | 280 | 361 | 538 | 751 911
= 91 90 89 86 78 = 72 71 70 64 59 48
E 2 131 | 294 | 398 | 631 | 732 E 0 178 | 274 | 356 | 532 | 740 899
T 122 | 121 | 120 | 117 | 107 s 96 95 93 91 85 78
8 50 128 | 289 | 391 | 623 | 715 2 50 175 | 270 | 351 | 530 | 731 882
152 | 151 | 149 | 144 | 135 119 | 118 | 116 | 111 106 99
60 121 | 281 | 382 | 611 | 7083 60 171 | 261 | 342 | 522 | 712 870
183 | 181 | 179 | 174 | 170 143 | 141 | 188 | 135 129 116
20 110 | 273 | 372 | 600 | 692 20 164 | 248 | 338 | 513 | 703 857
215 | 214 | 211 | 207 | 200 167 | 165 | 161 | 158 152 146
Maxcont | o 98 | 261 | 357 | 586 | 679 Maxcont. | 75 152 | 240 | 332 | 510 | 689 841
228 | 226 | 224 | 221 | 214 179 | 177 | 175 | 1 166 159
) 72 | 258 | 346 | 571 | 666 80 141 | 223 | 330 | 497 | 670 823
_ 243 | 240 | 237 | 233 | 222 193 | 192 | 190 | 187 181 172
maxint [0 71| 62 | 243 | 382 | 550 | 643 waxit. | go | | 120 | 218 | 320 | 480 | 645 | 800
274 | 272 | 270 | 263 | 252 217 | 215 [ 211 | 208 | =202 185
(Torque ) : 320Nm
BMH500(471.1mi/r) (Speed) - 2t1rimin
Pressure (Mpa) Max.cont. Max.int.
[ 25 ] 4 [ 6 [ 85 [ 12 | 15 |
10 153 249
21 20
152 | 242 | 370 | 650 755 940
20 42 Y 40 34 29 23
150 | 236 | 361 | 645 742 931
< 30 62 61 60 55 49 45
= 147 | 230 | 352 | 640 731 922
5 40 82 | 81 80 | 74 69 65
2 145 | 224 | 340 | 637 720 911
50 104 | 102 | 100 | 96 20 84

142 | 212 | 331 | 632 703 899
60 124 | 122 | 120 | 114 110 104
140 | 202 | 328 | 621 689 887
70 146 | 143 | 140 | 136 131 125
130 | 197 | 324 | 612 682 879
Max.cont. | 75 154 | 152 | 150 | 142 136 130
121 | 183 | 310 | 601 661 865
80 165 | 163 | 161 | 150 142 138

110 | 172 | 294 | 583 654 848 ﬁ

Max.int. 90 185 | 184 | 182 | 172 167 161

Cont.

Int.

www.rudiflex.com



NX RUDIFLEX THC

BMH Orbit Hydraulic Motor With Spool Valve

B BMH Installation

6-hole oval flange AIV

P(A,B) 4-C ; s
20 20
] 6-913.5
[ ooy
%E I
| )&A K)BA | ) © | ©
33 o - .
I o S 5| 5| Eé é}- -
. 1| @ g
i B«
— 20 | 20 \
16 5 }
‘Mounting surface | 46.5 36
L

L 205

168 175 184 196
B 28 35 44 56 65

Bl BMH PORTS CODE

P(A‘ B)(deep)

Y G1/2 (15) M8 (13) G1/4 (12)

Y5 7/8-14UNF (15) 3/8-16UNC (13) 7/16-20UNF (12)
Y8 NPT1/2 (15) 5/16-18UNC (13) 7/16-20UNF (12)
Y25 7/8-14UNF (15) M8 (13) 7/16-20UNF (12)

Note:P(A. B)--Ports, C-—Mounting Thread (—Indicates no this thread ) , T--Drain connettion

44 www.rudiflex.com



BMH Orbit Hydraulic Motor With Spool Valve

Bl BMH SHAFT VERSION

P1: ®32Cylindrical shaft, parallel key10 x 8 x 45

NX RUDIFLEX THC

A-A o
10-0.036

321500
M8

I
0€

20

®385

3

P3: ®25Cylindrical shaft, parallel key8 x 7 x 32

P2: ©31.75Cylindrical shaft, parallel key7.96 x 7.96 x 36

54

|A

8 36

0
-0.02

$31.75

5 8-1?UNF

L

24 |

A
65

A-A
7.96 -g.oas

0
-0.2

35.3

P4: ®25Cylindrical shaft, parallel key8 x 7 x 32

43 38
A - A
5 | | 32 \(00’ AA8-3.036 25 || ! 32 | \(oo’o
/ /
3 o Z 2
o S % E ' o BT -8
& g
20 20
la 54 K] la 45 K]
P5: ®31.75 Cylindrical shaft, parallel key7.96 x 7.96 x 32
Yy p
46.5
8 32 A-A o
|A >(°o) 7.96-0.036
gl 2 / o8 97
°s 215 9 © a
I | P ©
g3 o
20 I A
K]
58
Q : Motor mounting surface
www.rudiflex.com

A-A
8 -8.036

286>

45



NX RUDIFLEX THC

BMH Orbit Hydraulic Motor With Spool Valve

Bl BMH SHAFT VERSION

P7:. ®35Cylindrical shaft, parallel key10 x 8 x 45

56

A-A

A
I | 10 -8.036

-0.02
0.04
0
-0.2

D35
M8
e

\

20 |

K1: ®31.75 involve splined shaft 14-DP12/24 a=30°

H3: ©25.4 Splined shaft, 6-25.4 x 21.47 x 6.25

24.5

0¢

25.4 5%
1/4-20UNC
N §
T
|
d35
6-6.25 ‘0om

$21.47+0.07

K2: ®31.75 involve splined shaft 14-DP12/24 a=30°

32 »
~ A e
|A NS AA L | ]
/ 8 % —
gl o (> — o5 — ©
P g = I el e e
i) Iy [ E s 2 2
8| > L
i 20
20 |
|A q A56.5 q
46.5
68
58
K11: ®31.75 involute splined shaft 14-DP12/24 a=30°
32 A-A
N
20 |A >(C3
————5 J1 1/
§ 6]
5l 2 0 L9 7T
g I e &
3| &
46.5 Q
la 58
<] : Motor mounting surface
www.rudiflex.com

46



NX RUDIFLEX THC

BMH Orbit Hydraulic Motor With Spool Valve

Hl BMH Series Mortor

Direction of shaft ration: Standard

When facing shaft end of motor, shaft to rotate:
Clockwise when port “A” is pressurized.
Counter—clockwise port “B” is pressurized.

www.rudiflex.com

47



NX RUDIFLEX THC

BMH Orbit Hydraulic Motor With Spool Valve

M BMH ORDERING CODE

1 3 4 5 6 7
BMH | — /
Pos.1 2 3 4
Series | Disp Output Flange
P1 | ®32 Cylindrical shaft, parallel key10x 8 x 45
P2 | ®31.75 Cylindrical shaft, parallel key7.96 x 7.96 x 36
200 | p3 | ®25 Cylindrical shaft, parallel key8 x 7 x 32
P4 | ®25 Cylindrical shaft, parallel key8 x 7 x 32
250
P5 | ®31.75 Cylindrical shaft, parallel key7.96 x 7.96 x 32
BMH 315 | P6 | ®32 Cylindrical shaft, parallel key10x 8 x 45 AlV | 6-®13.5 Oval flange, pilot®82.5 x 6
P7 | ®35 Cylindrical shaft, parallel key10x 8 x 45
400
H3 | ®25.4 Splined shaft, 6-25.4x21.47x6.25
500 K1 ®31.75 involute splined shaft, 14-DP12/24 a=30°
K2 | ®31.75 involute splined shaft, 14-DP12/24 a=30°
K11 | ®831.75 involute splined shaft, 14-DP12/24 a=30°

48

www.rudiflex.com




NX RUDIFLEX THC

5 6 7
rors Special features Rotation
Code Ports(A,B)(deep) |Drain port T(deep) P direction
Y G1/2(15) G1/4(12)
Y5 | 7/8-14UNF(15) | 7/16—20UNF(12)
Omit Standard  |Omit|Standard
L
Y8 NPTF1/2(15) 7/16—20UNF(12) Opposite
Y25| 7/8-14UNF(15) | 7/16-20UNF(12)
www.rudiflex.com

49



NX RUDIFLEX THC

BMP Orbit Hydraulic Motor With Spool Valve

M INTRODUCTION

This series of motor are small volume,economical type,which is designed with Spool Valve,which
adapt the gerotor gear set design and provide compact volume,high power and low weight.

Bl CHARACTERISTICS

1 Advanced manufacturing devices for the Gerotor gear set, which provide small volume, high efficiency and long life.
2 Shaft seal can bear high pressure of motor of which can be used in parallel or in series.

3 Advanced construction design,high power and low weight.

M BMP TECHNICAL DATA

BMP BMP BMP BMP BMP BMP BMP
TYPE ) 80 100 160 200 250 400

Displacement(ml/r) 52.9 79.3 98.2 120.9 158.7 196.4 241.8 317.3 392.9
cont. 14 14 14 14 14 14 12 10 8

Max.Pressure.Drop

(Mpa) int. 17.5 17.5 17.5 175 17.5 17.5 14 12 10
peak. 22 22 22 22 22 22 20 15 13
cont. 97 148 183 229 295 364 369 404 416

Max.torque

(N.m) int. 125 189 238 292 382 470 444 501 531
peak. 149 222 276 340 445 532 568 555 596

Max.Speed(cont.)(r/min) 755 750 610 490 375 305 245 185 150

Max.Flow(cont.)(L/min) 40 60 60 60 60 60 60 60 60

Max.Output.Power(cont.)(Kw) 6.5 10 10 10 10 10 8 7 57

Weight (kg) 5.6 5.7 5.9 6 6.2 6.4 6.6 6.9 7.4

Intermittent operation the permissible values may occur for max. 10% of every minute

Peak load: the permissible values may occur for max. 1% of every minute

50 www.rudiflex.com



NX RUDIFLEX THC

BMP Orbit Hydraulic Motor With Spool Valve

Hl BMP PERFORMANCE DATA

Flow(L/min)

Max.cont.

Max.int.

Flow(L/min)

Max.cont.

Max.int.

Flow(L/min)

Max.cont.

Max.int.

BMP 50(52.9ml/r) BMP 80(79.3ml/r)
Pressure (Mpa) Max.cont. Max.int. Pressure (Mpa) Max.cont. Max.int.
[ 3 [ 6 [ 8 [ 10 [125] 14 [ 16 | 175 [ 3] 6 [ 8 [ 10 J125] 14 [ 16 [ 175 |
33 [ 60 | 81 | 103 | 133 | 148 | 172
8 18 38 55 69 87 100 115 8 29 o1 79 67 56 42 32
148 | 140 | 123 | 102 | 83 61 42 15 | [36 [ 61 | 82 | 104 [133 | 149 | 173 | Te2
15 19 39 56 70 87 | 102 | 116 128 185 | 172 | 163 | 152 | 134 | 125 | 117 94
277 264 251 242 233 219 202 188 20 34 62 83 105 134 150 174 192
20 19 39 54 69 89 100 | 115 127 < 247 | 238 | 230 | 220 | 205 | 197 | 189 172
370 359 348 337 328 320 301 282 g 30 33 60 82 104 | 133 | 149 172 190
0 18 38 53 68 88 98 114 126 5 370 | 363 | 355 | 342 | 327 | 316 | 302 285
o
556 | 541 | 529 | 516 | 509 | 500 | 487 | 461 © | g5 || 3 | 59 | 80 | 102 | 131 | 148 | 170 | 189
17 37 52 57 36 97 13 125 433 | 417 | 406 | 398 | 390 | 384 | 367 365
3 || 649 | 620 | 619 | 608 | 601 | 595 | 578 | 559 40 || 30 | 57 | 78 | 101 | 129 | 147 | 169 | 188
16 6 =0 o6 a5 % e o8 494 | 484 | 478 | 471 | 461 | 453 | 443 411
40 50 29 | 56 | 77 | 100 | 128 | 145 | 168 186
741 725 718 710 695 688 673 627 617 | 604 | 597 | 590 | 578 | 571 558 519
50 13 31 47 59 81 94 | 104 115 voroon. | 60 | | 28 | 55 | 76 | 99 | 127 | 144 | 167 | 184
927 | 919 | 910 | 900 | 888 | 874 | 856 837 - 741 | 726 | 718 | 710 | 700 | 686 | 673 | 624
- 9 25 42 50 76 90 98 106 vaie. | 75 22 | 48 | 71 | 93 | 120 | 134 | 160 175
1122 | 1101 1094 | 1082 | 1075 | 1064 | 1042 1011 o 926 | 906 | 896 | 887 | 867 | 857 838 779
BMP 100(98.2ml/r) BMP 125(120.9ml/r)
Pressure (Mpa) Max.cont. Max.int. Pressure (Mpa) Max.cont. Max.int.
[ 3] 6 ] 8 [ 10]125] 14 [ 16 [ 175 | [ 8] 6] 8 J 10]125] 14 ] 16 [ 175 |
s 37 73 98 128 164 186 8 44 90 123 158 205 231
80 68 59 50 | 163 | 33 65 | 61 51 44 | 36 | 30
15 38 74 99 129 165 187 218 240 15 45 91 124 159 206 232 265 294
150 | 139 | 129 | 117 | 102 | 96 87 69 122 | 118 | 112 | 106 | 99 | 91 79 61
20 39 75 100 130 166 188 219 241 20 46 90 125 160 206 233 266 295
200 | 189 | 180 | 171 | 159 | 150 | 136 119 < 165 | 152 | 143 | 133 | 126 | 112 | 106 98
37 73 98 127 163 185 216 239 g 30 45 88 123 158 204 230 264 293
0 | | 200 | 286 | 279 | 270 | 259 | 250 | 234 | 219 s 243 | 238 | 236 | 231 | 224 | 217 | 206 | 191
36 71 97 1 126 | 161 | 183 | 214 238 s a5 43 | 86 | 121 | 156 | 202 | 229 | 263 292
35 249 | 238 | 333 | 320 | 318 | 309 | 209 281 284 | 278 | 275 | 272 | 266 | 263 | 258 240
0 35 170 96 124 160 182 | 213 85 20 42 | 85 | 120 | 154 | 200 | 226 | 262 290
399 | 391 | 387 | 383 | 375 | 370 | 363 | 338 3:12 3:f ‘ﬂg ‘1’]5; ?g‘; 2‘2’; :9‘1‘ Z‘;
34 | 69 | 95 | 123 | 159 | 181 | 211 235 50 &
50 405 | 397 | 393 | 389 | 380 | 376 | 368 | 343
499 | 489 | 484 | 479 | 468 | 463 | 453 423 2o Tas Tii6 Tiso Tios 1201 T 259 =
33 | 68 | 94 | 122 | 158 | 180 | 210 233 60
60 Max.cont. 486 | 476 | 470 | 465 | 465 | 452 | 441 412
599 | 587 | 580 | 574 | 562 | 556 | 544 507 71 198 107 T30 187 T 211 [ 241 75
75 || 27 | &1 | 86 | 111} 149 ) 168 | 198 | 202 waci. | ' || 608 | 596 | 589 | 583 | 571 | 564 | 552 | 515
748 | 733 | 726 | 718 | 703 | 695 | 680 634 .
BMP 160(158.7ml/r) BMP 200(196.4ml/r)
Pressure (Mpa) Max.cont. Max.int. Pressure (Mpa) Max.cont. Max.int.
[3 ] 6 ] 8 ] 10 [125] 14 | 16 | 175 | [ 31 6 [ 8 [10]15] 4] 16 [ 175 |
8 57 | 117 | 160 | 206 | 261 s 69 | 140 | 193 | 248
49 | 46 | 41 | 34 | 20 40 | 33 | 29 | 25
15 58 | 118 | 161 | 207 | 262 | 298 | 349 | 385 15 70 | 141 1 194 | 249 | 324 | 366 | 428
93 | 84 |79 | 72 | 64 | 58 | B0 M 75 | 70 | 64 | 58 | 50 | 41 32
20 59 | 119 | 162 | 208 | 263 | 299 | 350 386 _ | 20 71 | 142 | 195 | 250 | 325 | 367 | 428 472
123 | 118 | 115 | 111 | 104 | 99 93 82 g 100 | 92 8 | 75 | 69 58 52 47
20 58 | 117 | 160 | 205 | 261 | 298 | 348 384 3 | 30 70 | 141 | 193 | 248 | 323 | 366 | 426 471
185 | 181 | 177 | 173 | 168 | 165 | 159 148 ‘g’ 150 | 140 | 136 | 129 | 120 | 112 | 101 93
a5 57 | 115 | 159 | 203 | 260 | 295 | 346 382 £ |35 69 | 140 | 191 | 247 | 321 [ 364 | 425 470
216 | 211 | 209 | 207 | 202 | 200 | 196 183 175 | 170 | 164 | 160 | 154 | 148 | 140 129
20 55 | 114 | 156 | 201 | 259 | 293 | 344 380 0 67 | 138 [ 190 | 246 [ 320 | 362 | 423 468
247 | 241 | 238 | 236 | 231 | 228 | 220 207 199 | 194 | 191 | 188 | 183 | 179 | 171 159
0 53 | 111 | 154 | 199 | 258 | 292 | 342 378 0 66 | 136 | 189 | 244 | 318 | 361 | 422 466
309 | 302 | 299 | 296 | 289 | 286 | 280 261 249 | 244 | 241 | 239 | 234 | 230 | 226 211
60 52 | 109 | 152 | 197 | 256 | 290 | 340 376 maxcont. [ oo 65 | 135 | 187 | 243 | 316 | 359 | 420 465
370 | 363 | 359 | 355 | 348 | 344 | 336 314 299 | 293 [ 200 | 287 | 281 | 278 | 255 238
75 43 | 101 | 143 | 190 | 249 | 282 | 322 358 Maxin. [ oo 58 | 127 | 179 | 234 | 308 | 348 | 408 456
463 | 453 | 448 | 444 | 430 | 420 | 410 383 374 | 366 | 362 | 358 | 351 | 347 | 339 317
(Torque ) : 143Nm
(Speed) : 448r/min Cont.
Int.
www.rudiflex.com 51



NX RUDIFLEX THC

BMP Orbit Hydraulic Motor With Spool Valve

Hl BMP PERFORMANCE DATA

Flow(L/min)

Max.cont.

Max.int.

Flow(L/min)

Max.cont.

52

Max.int.

BMP 250(241.8ml/r) BMP 315(317.3ml/r)
Pressure (Mpa) Max.cont. Max.int. Pressure (Mpa) Max.cont. Max.int.
[ 3] 6 ] 8 ] 10] 12 ] 14 ] [ 3] 5 ] 7 1 9] 10] 12]
8 86 | 172 | 234 8 114 | 191 | 270
32 | 30 | 26 25 | 22 19
15 87 | 173 | 235 | 297 | 368 | 443 15 115 | 192 | 271 | 355 | 403 | 500
61 50 | 54 | 49 40 33 46 | 42 | 38 | 34 29 21
0 88 | 174 | 236 | 298 | 369 | 444 _ 20 116 | 193 | 272 | 356 | 404 | 501
81 78 | 73 | 68 62 56 € 62 | 59 | 55 | 51 45 40
30 86 | 173 | 235 | 297 | 368 | 443 § 30 114 | 191 | 270 | 354 | 403 | 499
123 | 120 | 118 | 116 | 112 | 103 5 93 | 90 | 86 | 80 76 65
35 85 | 171 | 234 | 296 | 366 | 442 2 35 112 | 189 | 268 | 352 | 400 | 497
142 | 138 | 132 | 125 | 117 | 108 108 | 105 | 103 | 101 | 100 | 95
0 83 | 169 | 232 | 294 | 364 | 440 20 110 | 187 | 266 | 350 | 398 | 495
162 | 159 | 154 | 150 | 144 | 135 123 | 121 | 119 [ 116 | 114 | 109
50 82 | 167 | 230 | 293 | 362 | 438 50 108 | 184 | 264 | 348 | 396 | 493
203 | 198 | 195 | 193 | 191 | 186 154 | 151 | 148 | 144 | 142 | 137
0 81 | 166 | 228 | 292 | 360 | 437 vaxcont | 60 106 | 182 | 262 | 346 | 394 | 491
243 | 238 | 236 | 233 | 230 | 221 185 | 181 | 179 | 176 | 174 | 171
25 74 | 153 | 212 | 281 | 349 | 423 waxine. | 75 100 | 175 | 156 | 339 | 387 | 482
304 | 297 | 294 | 291 | 288 | 277 231 | 226 | 222 | 219 | 215 | 209
BMP 400(392.9ml/r)
Pressure (Mpa) Max.cont. Max.int.
[ 3 [ 4] 5 [ 7 [ 8 [ 10]
8 155 | 204
20 18
15 156 | 205 | 262 | 366 | 428 | 544
37 | 34 | 31 27 24 19
20 157 | 208 | 264 | 368 | 434 | 549
50 | 47 | 44 | 39 37 32
30 152 | 204 | 258 | 362 | 424 | 540
75 | 72 | 69 | 66 64 60
35 148 | 198 | 252 | 356 | 416 | 531
87 | 84 | 81 77 74 69
0 142 | 193 | 246 | 348 | 406 | 523
100 | 97 | 94 | 90 88 84
50 136 | 186 | 238 | 341 | 398 | 515
125 | 122 | 120 | 117 | 115 | 111
60 131 | 180 | 231 | 333 | 390 | 506
150 | 148 | 146 | 142 | 140 | 137
75 123 | 168 | 215 | 312 | 371 | 492
187 | 183 | 179 | 172 | 169 | 162
(Torque ) : 312Nm
(Speed ) : 172r/min
|:| Cont.
 m
www.rudiflex.com



NX RUDIFLEX THC

BMP Orbit Hydraulic Motor With Spool Valve

Hl BMP Installation

2-hole oval flange A1l

8257531

0
-0.10

©44.45

17 P(A,B)
6 — 4-C T
8 20 |20 / /
(]B\
} \ KA
Sl o
FC== PRSP St S [ e =
i
B
Mounting surface
20 | 20
38 36
L
Square flange C,C1
P(A,B 4-C T
15 A_LN 20 20 /
e |
?B\g |
V)
oG & i
&/ o
fa— _ _ _ e . 8
N N~ =Y
A X %
oo
U
f )
2.5
20 |_20
Mounting surface 44 36 .

L1

Note: C. C1 mounting are assembling to BMPH shaft.

TYPE BMP-50 BMP-80 BMP-100 m BMP-160 BMP-200 BMP-250 m BMP-400
L 145 147 150 160 166 176 186

L1
B

143.5
151.5
7

153
1

155
13

155
158 163
16 21
www.rudiflex.com

168
26

2-013.5

$130

$106.4+0.2

55

$82.5+0.1

82 x 82

4-M10(C)

(or)4-3/8-16UNC(C1)

96

174
32

184
42

194
52

53



BMP Orbit Hydraulic Motor With Spool Valve

NX RUDIFLEX THC

W BMP PORTS CODE

P(A. B)(deep)

C (deep)

Y1

Y2

Y4

Y5

Y7

Y8

Y9

Y10

Y15

G1/2 (15)
M18x 1.5 (15)
M22 x 1.5 (15)

ZG3/8 (15)
7/8-14UNF (15)
ZG1/2 (15)
NPT1/2 (15)
NPTF1/2 (15)
G1/2 (15)

7/8-14UNF (15)

M8 (10)

M8 (10)

M8 (10)

M8 (10)

M8 (10)

M8 (10)
5/16-18 UNC(10)

M8 (10)

5/16-18UNC (10)

Note:P(A. B)-—Ports, C——Mounting Thread (—Indicates no this thread ) , T--Drain connettion

B BMP SHAFT VERSION

P1: ®25 Cylindrical shaft, parallel key8 x 7 x 32

43

.0

257908
M8
=

|

T

1
0285

B8 EREEEEE EEREEE

< : Motor mounting surface

54

M14x 1.5 (12)

M14x 1.5 (12)
M14x 1.5 (12)
M14x 1.5 (12)
M14x 1.5 (12)
M14x 1.5 (12)
M14x 1.5 (12)

7/16-20UNF(12)

G1/4 (12)

7/16-20UNF (12)

P3: ®25.4 Cylindrical shaft, parallel key6.35 x 6.35 x 32

©25.425:5%

43

.0

20
A

®?8.5

www.rudiflex.com

6.35-6.036

28295




NX RUDIFLEX THC

BMP Orbit Hydraulic\Motor With Spool Valve

Bl BMP SHAFT VERSION

P5: ®32 Cylindrical shaft, parallel key10 x 8 x 45 P33: ®©25.4 Cylindrical shaft, parallel key6.35 x 6.35 x 32
56 40
A-A A-A
5 45 10 003 5 32 : 6.35 503
IA k! 1A S
1/ ) '
g E g2 I
il R R (R E=s R
- : 8 = E e
20 E 20 : B
TA A
65 |<] 51 |<]
| |
H3: ©25.3Splined shaft, 6-25.3 x21.4x 6.2 K13: ®31.75 involute splined shaft 14-DP12/24 a=30°
56707 .
43 AA 6 ' AA
28% . 017 A . 2
IA A / %c D21.4-0.37 l _ é /
il ' © '
g8 AW 7777 o 6 S |
HIE= T8 K g
g B i s
2 ; 20 .
A d ' 67
54

< : Motor mounting surface

www.rudiflex.com 55



NX RUDIFLEX THC

BMPH Orbit Hydraulic Motor With Spool Valve

Hl BMPH Installation

2-hole oval flange ATl

2-013.5
N P(A,B) -
PR 28.4 /— /f
E— L/
S o < A\
Va N
{}@2 1 ’/-'@'\
52 S o N &
e9 D & ) — 3 sl @ |- -
@ c— o © w =2 il < v /
H el
s & 87 )
@&ﬂfh ~
L~ A \V/
N
5 N
2.8 17 ©88.5£0.1
427 447
Mounting surface L

Square flange C,C1

P(A,B) T
4C 284 ©82.5:0.1 4M10(C)
15 \ \ | (or)4-3/8-16UNC(C1)
oS N
' o 0 o &
© Y L - - - X
< i ™~ ™ o o
< 0 ©
< < ©
e
2.5 42.7 B 44.7
R ——
Mounting surface L

151.5 153 158 163
B 7 1 13 16 21 26 32

TYPE BMPH-50 | BMPH-80 | BMPH-100 m BMPH-160 | BMPH-200 | BMPH-250 m BMPH-400
L 155 168 174 184 194

42 52

56 www.rudiflex.com



NX RUDIFLEX THC

BMPH Orbit Hydraulic Motor With Spool Valve

W BMPH PORTS CODE

P(A. B)(deep) T ( deep)
% G1/2 (15) — M14 x 1.5(12)
Y5 7/8-14UNF(15) — 7/16-20UNF(12)
Y7 ZG1/2(15) — G1/4(12)
Y9 NPTF1/2(15) — 7/16-20UNF(12)
Y10 G1/2(15) — G1/4(12)
Y17 3/4-16UNF(15) — 7/16-20UNF(12)
Y19 ®11(15) 5/16-18UNC(13) 7/16-20UNF(12)
Y20 M18 x 1.5(15) M8 (13) G1/4(12)

P(A. B)—-Ports, C-—Mounting Thread (—Indicates no this thread ) , T—-Drain connettion

Bl BMPH SHAFT VERSION

P1: ®25 Cylindrical shaft, parallel key8 x 7 x 32 P3: ®25.4 Cylindrical shaft, parallel key6.35 x 6.35 x 32
43 40
A-A A-A
5 32 8 -g.ose 5 32 6.35 -g.osa
1A 3 1A 3
7 7

3 | % g | o %
| g s = B =l g s =
s - / } © « § v / } © I

20 20

TA TA
48 45
| |

< : Motor mounting surface

www.rudiflex.com 57



N RUDIFLEX® THC

BMPH Orbit Hydraulic Motor With Spool Valve

Bl BMPH SHAFT VERSION

P4. ©25.4 Cylindrical shaft, Woodruff key ®25.4 x 6.35 P33: ®25.4 Cylindrical shaft, parallel key6.35 x 6.35 x 32

40
A-A A-A
6.35 -g.ozs g = 6.35 'g 036
: 1A 8
/
sl © ~ alo I o %
3| 5 3 5T -
&l 3 2 | S 8 s
e = 8= }
B 20 :
TA
45 r]
|
P89: ® 25.4Cylindrical shaft pin hole ©9.53 P93: ®25.4Cylindrical shaft pin hole ©9.5
15.47+0.1 A-A 18 A-A
A \("o’ . ©9.53°0" A \)(oo)c . ©9.5:0.1
/ / o ,, / / o
= % i [ é_ -3 % © é_
40 <] ' 40 '
| A | A
45 45
P95: ® 25.4Cylindrical shaft pin hole ®6.4, P96: ® 25.4Cylindrical shaft pin hole®8
Woodruff key ®25.4 x 6.35
— 4‘; A-A . 11.7£0.1 X A-A o
: | X") . 6.35-0.036 3 8+0.08
=3 I |A °
: / 0 / M
2 S E 3 |
sl ] / > g sl ﬁ s Y
N e
\__ 96.4£0.1 a o ‘\'
2.7+01 | EFL 40-03
A A K
45 45
<] : Motor mounting surface
58 www.rudiflex.com



NX RUDIFLEX THC

BMPH Orbit Hydraulic Motor With Spool Valve

Bl BMPH SHAFT VERSION

P97: ® 25.4Cylindrical shaft pin hole ®10.3 H4: ©25.3 Splined shaft, 6-25.3x21.4x6.2
40
15.47401 AA 26 AA ~0.160
47+0. A X‘é ®10.3+0.1 |A Xg 21.4-0370
/ /
gl 2 ' 88|12
g T 8 . 8| 44 ©
40 ' 14.5
9
A |
! 45 A s

K8: ©22.1 involve splined shaft 13-DP16/32

22194
5/16-18UNC
1
i ! ;{

.
2B.5

38.2.0s

43

< : Motor mounting surface

www.rudiflex.com 59



NX RUDIFLEX THC

BMP. BMPH Series Mortor

60

BMP. BMPH Series Mortor

Direction of shaft ration: Standard

When facing shaft end of motor, shaft to rotate:
Clockwise when port “A” is pressurized.
Counter—clockwise port “B” is pressurized.

PERMISSIBLE SHAFT LOADS

P (N) Radial force

2
P —
7000 ‘
1500N |
5000 |
\ P<- |
3000 - — D
\ |
—1 | 2000N -
1000 B | @
I L
0 200 400 600 goo  reed(min) Li—»_
www.rudiflex.com



NX RUDIFLEX THC

BMP. BMPH ORDERING CODE

M BMP BMPH ORDERING CODE

1 2 3 4 5 6 7
BMP | — / —
Pos.1 2 3 4
Series | Disp Output Flange
50 P1 @25 Cylindrical shaft, parallel key8 x 7 x 32
80 All | 2-013. [ :
P3 ®25.4 Cylindrical shaft, parallel key6.35 x 6.35 x 32 2-®135 Ovalflange, pilot ®82.5x 8
100
105 P5 @32 Cylindrical shaft, parallel key10 x 8 x 45
BMP )
160 | P33 | ®25.4 Cylindrical shaft, parallel key6.35 x 6.35 x 32 C | 4-M10 Square flange, pilot®44.45x 2.5
200
H3 ®25.3 Splined shaft, 6-25.3x21.4x6.2
250
©25.3 Splined shaft, 6-25.3x21.4x6.2
315 | H33 P X X C1 | 4-3/8-16UNC Square flange, pilot®44.45 x 2.5
400 | K13 | @©31.75 involute splined shaft, 14-DP12/24 a=30°
5 6 7
‘ Ports Special feat Rotation
Code ports(A,B)(deep) |Drain port T(deep)| SPecial features direction
\% G1/2(15) M14 x 1.5(12)
Y1 M18 x 1.5(15) M14 x 1.5(12)
Y2 M22 x 1.5(15) M14 x 1.5(12) Omit Standard  |Omit|Standard
Y4 ZG3/8(15) M14 x 1.5(12)
Y5 7/8-14UNF(15) M14 x 1.5(12) T7 |With dustproofring] L |Opposite
Y7 ZG1/2(15) M14 x 1.5(12)
Y8 NPT1/2(15) M14 x 1.5(12)
T10 |With high pressure
Y9 NPTF1/2(15) | 7/16-20UNF(12) seals
Y10 G1/2(15) G1/4(12)
Y15 | 7/8-14UNF(15) | 7/16-20UNF(12)

Note: C. C1 mounting are assembling to BMPH shaft.

www.rudiflex.com




NX RUDIFLEX THC

BMP. BMPH ORDERING CODE

H BMP BMPH ORDERING CODE

1 2 3 4 5 6 7
BMPH | — / —

Pos.1 2 3 4

Series | Disp Flange

50 P1 | ®25 Cylindrical shaft, parallel key8 x 7 x 32

P3 | ®25.4 Cylindrical shaft, parallel key6.35 x 6.35 x 32 All | 2-®13.5 Oval flange, pilot®82.5x 2.8

80

P4 | ®25.4 Cylindrical shaft, Woodruff key ®25.4 x 6.35

100
P33 | ®25.4 Cylindrical shaft, parallel key6.35 x 6.35 x 32

125
P89 | ®25.4 Cylindrical shaft pin hole ©9.53

160 | P93 | ®25.4 Cylindrical shaft pin hole ®9.5 C | 4-M10 Square flange, pilot®44.45 x 2.8

BMPH

200 P95 | ®25.4 Cylindrical shaft pin hole ®6.4, Woodruff key ®25.4 x 6.35

P96 | ®25.4 Cylindrical shaft pin hole ®8

250
P97 | ®25.4 Cylindrical shaft pin hole ®10.3

315 1 1 o253 Splined shaft, 6-25.3x21.4x6.2 C1 | 4-3/8-16UNC Square flange, pilot ®44.45 x 2.
|

400 | K8 | ®22.1 involute splined shaft, 13-DP16/32
:

5 6 7

Ports .
; Special features Rotation
Code| Ports(A,B)(deep) [Drain port T(deep) P direction

Y G1/2(15) M14 x 1.5(12)

Y5 | 7/8-14UNF(15) | 7/16-20UNF(12)

Y7 ZG1/2(15) G1/4(12)

Omit| Standard  |Omit|Standard
Y9 | NPTF1/2(15) | 7/16-20UNF(12)| andar mitjStandar

Y10 G1/2(15) G1/4(12) T

—

No case drain | L |Opposite|

Y17| 3/4-16UNF(15) | 7/16-20UNF(12)

Y19 ®11(15) 7/16-20UNF(12)

Y20| M18x1.5(15) G1/4(12)

62 www.rudiflex.com



NX RUDIFLEX THC

BH Orbit Hydraulic Motor With Spool Valve

M BH INTRODUCTION

This seriees of motor,with its shell made of ductile cast iron of adequate intenty,can be applied to
situations with less load and interval operation,widely to agriculture,forestry,plastics,machine tools
and minmachines etc.

B BH CHARACTERISTICS

1.With the axial oil distribution structur,it is of smaller,high efficiency and long life.
2.shaft seal can bear high pressure of motor of which can be used in parallel or in series.

Il BH TECHNICAL DATA

Displacement(ml/r) 49.3 76.6 95.8 120.4 153.2 191.6 240.8 306.5 383.1
cont. 10.5 10.5 10.5 10.5 10.5 10.5 9 7 7

Max.Pressure.Drop

(Mpa) int. 14 14 14 14 14 14 11.5 10.5 9
peak. 18 18 18 18 18 18 15 14 11
cont. 65 105 130 160 205 255 275 305 335

Max.torque

(N.m) int. 90 140 175 220 280 350 360 410 429
peak. 115 180 225 285 365 455 475 560 550

Max.Speed ( cont.)(r/min ) 810 520 415 330 260 205 165 125 100
Max.Flow(L/min ) 40 40 40 40 40 40 40 40 40
Max.Output.Power(cont.)(Kw) 4.5 4.8 4.8 4.8 4.8 4.6 4 3.5 3

Intermittent operation the permissible values may occur for max. 10% of every minute

Peak load: the permissible values may occur for max. 1% of every minute

www.rudiflex.com 63



NA RUDIFLEX' THOTH

BH Orbit Hydraulic Motor With Spool Valve

Hl BH INSTALLATION

41.6
- P(A. B)
20 | 20
" /If /
J
—A‘aé— N
53 o
o NI 9 3 3 3 a
ST 1% s 8 & 3| o
u o
& g A :\
v I ¥ |
Mounting surface | 4c [ B
14 T 50
96.5
8 L
TYPE BH-50 BH-80 BH-100 BH-125 BH-160 BH-200 BH-250 BH-315 BH-400
L 107 112 115.5 120 126 133 142 154 168
B 9 14 17.5 22 28 35 44 56 70

Hl BH PORTS CODE

P (A, B) ( deep)

Y G1/2 (15) M8 (13) M14x1.5 (12)
Y1 M18x1.5 (15) M8 (13) M14x1.5 (12)
Y2 M22x1.5 (15) M8 (13) M14x1.5 (12)
Y9 NPTF1/2 (15) 5/16-18UNC (13) 7/16-20UNF (12)
Y10 G1/2 (15) M8 (13) G1/4(12)
Y15 7/8-14UNF (15) 5/16-18UNC (13)

7/16-20UNF (12)

Note:P(A. B)--Ports, C-—Mounting Thread ( —Indicates no this thread ) , T--Drain connettion

64 www.rudiflex.com



NX RUDIFLEX THC

BH Orbit Hydraulic Motor With Spool Valve

M BH SHAFT VERSION

P1: ®25 Cylindrical shaft,parallel key 8x7x32 P3: d25.4 Cylindrical shaft,parallel key 6.35x6.35x32
43 43
5 32 - 5 32 - A-A
A ){% A )(ts |__’ 6.35-3.036
. - . -
2 TS 1 = £ P I N ~ NS
g s b g = P 8
20 i 20 i B
7y 7y K]
54 54
H3: ®25.3Splinedshaft, 6-25.32x21.47x6.25 H5: ®25.3Splinedshaft, 6-25.32x21.47x6.25
43 235
A-A A-A
28 12
$21.47+007 $21.47+007
|A X% : 0.0 IA : 0.0
{ i / © 1) 0
ﬁ o] i K L w 9:'—_ _ og 8227‘% ?;j_
ol 2 I V g ] S| edH] 0 &
8 14 gl s b B 7 B ¢
< © o © ©
\ e
20 exhoe 18 exboe
'a ‘ | d
54 A 33
<] : Motor mounting surface
www.rudiflex.com

65



NX RUDIFLEX THC

BH Orbit Hydraulic Motor With Spool Valve

Il BH ORDERING CODE

1 2 3 4 5 6 7
BH — s —
Pos.1 2 3 4
Series | Disp Output Shaft Flange
Zg P1 | ® 25Cylindrical shaft, parallel key 8x7x32
100
125 | P3 | ® 25.4 Cylindrical shaft, parallel key 6.35x6.35x32
BH | 160 All| 2-®13.5Ovalflange polit ®82.5x8
Zgg H3 | ®25.3Splined shaft, 6-25.32x21.47x6.25
315
400 | H5 | ®25.3Splined shaft, 6-25.32x21.47x6.25

5

6 7

Ports

Code ports(A,B)(deep)

Drain port T(deep)

Rotation

Special features direction

Y G1/2 (15) M14x1.5 (12)
Y1 | M18x1.5(15) | M14x1.5(12)
Y2 | M22x1.5(15) | M14x1.5(12)

Y9 | NPTF1/2 (15)

7/16-20UNF (12)

Y10

G1/2 (15)

G1/4 (12)

Y15|7/8-14UNF (15)

7/16-20UNF (12)

Omit Standard |Omit |Standard

66

www.rudiflex.com




NX RUDIFLEX THC

TMPH Orbit Hydraulic Motor With Spool Valve

l INTRODUCTION

TMPH series motors is a compact, economical and spool valve type of hydraulic motor. Suitable
for working conditions with small load and intermittent operation. Widely used in agriculture,
forestry, plastics, machine tools and mining machinery. Such as in jection plastic machine's
mold ad justment, sweeping car, sawmill and other work platforms.

Bl CHARACTERISTICS

1. Due to the geroler type, it has low friction,high mechanical cfficiency and long lifetime.

2. High shaft seal could be used in parallel and in series.

3. With two inside check valves, it needn't to connect the case drain.

4. Same performance with BMR series motor, similar size wilh BMP series motor.

5. The mounting flange and the front housing are separated, soitis easy to replace the flange.

Bl TMPH TECHNICAL DATA

TYPE TMPH-50 | TMPH-80 [ TMPH-100 TMPH-125 TMPH-160 TMPH-200 TMPH-250  TMPH-315 TMPH-400

Displacement(mi/r) . 120.4 153.2 191.6 240.8 306.5 383.1
cont. 14 14 14 14 14 14 11 9 7

Max.Pressure.Drop

(Mpa) int. 17.5 17.5 17.5 17.5 17.5 17.5 14 11 9
peak. 20 20 20 20 20 20 16 13 11
cont. 90 140 175 220 280 350 350 360 350

Max.torque

(N.m) int. 115 175 220 275 355 440 445 445 455
peak. 130 205 255 320 410 510 515 530 555

Max.Speed ( cont.)(r/min ) 810 780 625 495 390 310 245 195 155

Max.Flow(L/min ) 40 60 60 60 60 60 60 60 60

Max.Output.Power(cont.)(Kw) 6.4 9.5 9.5 9.5 9.5 9.5 7.4 6 4.8

1. Intermittent operation the permissible vavles may occur for max.10%of every minute
Peak load:the permissible valves may occur for max.1% of every minute

2.to use under max.speed & maxpressure at the same time is not recommended

www.rudiflex.com



NX RUDIFLEX THC

TMPH Orbit Hydraulic Motor With Spool Valve

B TMPH Installation

2-@13.5hole oval flange Al

42.7

2-013.5
P(A,B) T

eV

~
[on}

\
b,

LIl 1]
\

oo e
2 =ty i
o < < S o
8 N [} = SN
7 g
N 1
A .
N _ —
- B
Mounting surface — 45
Max.L
Square flangeC,C1
427 P(AB) T 4-M10 (C)
|_15_ // / $82.5:01 4-3/8-16 UNC (C1)
_f N
=D
\'4/ 2
- —
ot‘:' ~ %
wn
N = === i e O B 2
: Van) :
28 LV
—LA _
45
B
45 Max.83
Mounting surface Max.L
ax.

L 148 153 161 167 174 209

156.5 183 195
B 9 14 175 22 28 35 44 56 70

68 www.rudiflex.com



NX RUDIFLEX THC

TMPH Orbit Hydraulic Motor With Spool Valve

B TMPH Ports Code

P(A. B)(deep) C (deep) T (deep)

% G1/2 (15) — M14x 1.5 (12)
Y7 ZG1/2 (15) — G1/4 (12)

Y9 NPTF1/2 (15) — 7/16-20 UNF(12)
Y10 G1/2 (15) — G1/4 (12)
Y15 7/8-14UNF (15) — 7/16-20 UNF(12)

P(A. B)-—Ports, C——Mounting Thread ( —Indicates no this thread ) , T—-Drain connettion

B TMPH SHAFT VERSION

P1: ®25Cylindrical shaft,parallel key8 x 7 x 32 P3: ®25.4Cylindrical shaft,parallel key6.35 x 6.35 x 32
43 40
- A-A
5 1A3o £ 80 5 [Ags 6.35-0.03
*-I:I % "‘I‘:‘I 2%
3 -/ o V4 o / oS L
°s of Il o 3 (] og of 11T _:_ g a
§ 24T ﬂ g‘ § El 11 y g Q
20 ’ 20
A 48 1A45 ¢

P4: ®25.4Cylindrical shaft,Woodruff key ©25.4 x 6.35 P33: ®25.4Cylindrical shaft,parallel key6.35 x 6.35 x 32

40 40
A-A A-A
185201 | A 6.35-0.036 _15 I A32 ~5( 6.35-6.036
% I:I %
sto / 3 o 210 ) o | |
5|3 0 3 % - |3 t 1 0 s
<| ST © ; < |2 © &
© g = /"/ g & § ; i S—) & 3
ey- =
14.5] |A A 20 :
45 1445

<] : Motor mounting surface

www.rudiflex.com 69



NX RUDIFLEX THC

TMPH Orbit Hydraulic Motor With Spool Valve

B TMPH SHAFT VERSION

P89: ©25.4Cylindrical shaft pin hole ®9.53 P93: ®25.4Cylindrical shaft pin hole 9.5
15.47£0.1 A-A
A 5 ©9.53"%"° 18 /‘*"o, B ©9.520.1
5 T —H &re 2 ]
S EnZiZal | |7 | oD
pEIE! & &) 9| Y7 P ‘Q 4
a7 A ° %\L/ els ~
40 40 4
lA 45 45
P95: ®25.4Cylindrical shaft pin hole ® 6.4 P96: @ 25.4Cylindrical shaft pin hole® 8
Woodruff key ®25.4x6.35
40 117201 A-A
— — ©8+0.08
18.5 X - 6.35 905 a A >f° 1]
Tl 717 < 7 A7 -7l
"W 788 p o ZB L */
& e 4085
©6.4:0.1 | | K
BT=) Tmr A4s
45
P97: ®25.4Cylindrical shaft pin hole ®10.3 H4: ©25.3Splined Shaft, 6-25.3x21.4x6.2
40
15.47 +0.1 A
\15? 10.3+0.1 26 N
gle / ] L {n
S INZIlZE i D) == llIH
o | ST o ’/ s | ST/ e
et TJ e_1-
40 1 14.5 4
45 [A 45

K8: ®22.1involveCylindrical shaft, 13-DP 16/32

15.5 ~
1A %,
el 9 4]
Oc‘ z
S| THES 2
Slerpzzy” ||
0 N 174
14 SAL
IA 38285 | [
43

<]t Motor mounting surface

70 www.rudiflex.com



NX RUDIFLEX THC

TMPH Orbit Hydraulic Motor With Spool Valve

1 2 3 4 5 6 7
TMPH | — / —
Pos.1 2 3 4
Series | Disp Output Flange
50 P1 | ®25 Cylindrical shaft, parallel key8 x 7 x 32
80 P3 | ®25.4 Cylindrical shaft, parallel key6.35 x 6.35 x 32 All | 2-®13.5 Oval flange, pilot®82.5 x 6
P4 | ®25.4 Cylindrical shaft, Woodruff key ®25.4 x 6.35
100
P33 | ®25.4 Cylindrical shaft, parallel key6.35 x 6.35 x 32
125
P89 | ®25.4 Cylindrical shaft pin hole ©9.53
160 | P93 | ®25.4 Cylindrical shaft pin hole ®9.5 C | 4-M10 Square flange, pilot®44.45x 2.8
TMPH
200 P95 | ®25.4 Cylindrical shaft pin hole ®6.4, Woodruff key ®25.4 x 6.35
P96 | ®25.4 Cylindrical shaft pin hole ®8
250
P97 | ®25.4 Cylindrical shaft pin hole ®6.4, Woodruff key ®25.4 x 6.35
315 | 4 lo253 Splined shaft, 6-25.3x21.4x6.2 C1 [4-3/8-16UNC Square flange, pilot®44.45 x 2.8
400 | K8 | ®22.1 involute splined shaft, 13-DP16/32

5 6 7
Port Special features Rotation
Codel ports(a,B)(deep) |Drain port T(deep)| P direction

Y G1/2(15) M14 x 1.5(12)

Y7 Z2G1/2(15) G1/4(12)
Omit Standard  |Omit|Standard

Y9 | NPTF1/2(15) 7/16-20UNF(12) | T21 | No case drain | L |Opposite

T26 |Flange face is
vertical ports
Y10 G1/2(15) G1/4(12)

Y15| 7/8-14UNF(15) | 7/16-20UNF(12)

www.rudiflex.com



NX RUDIFLEX THC

BM3-6 Orbit Hydraulic Motor With Disk Valve

72

Hl INTRODUCTION

FEATURES AND APPLICATIONS

BM hydraulic motor is one type of high torque low speed hydraulic motors, with high efficiency and long life. BM motor has a wide
Speed range, high starting torque and rotating stable at high speed Compact and light, it can be connected to working machine
directly, adapted to all kinds of low speed heavy load facilities.

BM hydraulic motors are widely applied in agriculture machinery, fishing machinery, plastic industry, mining, and construction
machinery.

WORKING PRINCIPLE

1 orbitcam 2 roll 3 distributor 4 auxiliary plate
5 distributor shaft 6 transmission shaft 7 output shaft

Shown as the drawing, high pressure oil goes into the motor's housing through the inlet, passing the auxiliary plate, distributor,
then the working space between the orbit cam and rolls. Pressed by the high pressure oil, orbit cam rotates from the high pressure
side to the low pressure side. The orbit cam makes rotation and revolution against the rolls, at the same time, high pressure oil is
distributed continuously, thus, the output shaft can also rotate continuously.

The output speed can be controlled by adjusting the inlet flow capability of the motor, and the rotating direction can be changed by
exchanging the flow direction.

www.rudiflex.com



NX RUDIFLEX THC

BMB3Y Orbit Hydraulic Motor With Disk Valve

l BM3Y TECHNICAL DATA

BM3Y-80 BM3Y-100 |BM3Y-125 |BM3Y-160 |BM3Y-200 |BM3Y-250 |BM3Y-315 |BM3Y-400 BM3Y-500
BM3SY-80 |BM3SY-100 |BM3SY-125 |BM3SY-160 |BM3SY-200 |BM3SY-250 | BM3SY-315 |BM3SY-400 | BM3SY-500

BM3S3Y-80 | BM3S3Y-100 | BM3S3Y-125 | BM3S3Y-160 | BM3S3Y-200 | BM3S3Y-250 | BM3S3Y-315 | BM3S3Y-400 | BM3S3Y-500
BM3WY-80 | BM3WY-100 | BM3WY-125 | BM3WY-160  BM3WY-200 K BM3WY-250 | BM3WY-315 | BM3WY-400 | BM3WY-500

. 80.5 100.5 126.3 160.8 200.9 252.6 3215 401.9 476.5
Displacement(mi/r)
cont. 205 20.5 205 20.5 205 20 20 15.5 12
Max.Pressure.
int. 275 275 275 26 25 25 24 19 14
Drop (Mpa)
peak. 295 295 295 28 27 27 26 21 16
cont. 226 282 355 451 564 684 870 813 728
Max.torque .
(N.m) int. 293 365 459 559 672 845 1032 1021 903
peak. 306 383 481 588 708 891 1091 1141 1044
Max.Speed(cont.)(r/min) 805 745 590 465 370 295 230 185 155
Max.Output.Power(cont.)(Kw) 16 18 18 18 18 18 17 " 9
9.8 10.0 10.3 10.7 11.1 11.6 12.3 13.2 143

Weight (kg)

Intermittent operation the permissible values may occur for max. 10% of every minute

Peak load: the permissible values may occur for max. 1% of every minute

www.rudiflex.com 73



NX RUDIFLEX THC

BMB3Y Orbit Hydraulic Motor With Disk Valve

B BM3Y PERFORMANCE DATA

Flow(L/min)

Max.cont.

Max.int.

Flow(L/min)

Max.cont.

Max.int.

74

BM3Y 80(80.5ml/r) BM3Y 100(100.5ml/r)
Pressure(Mpa) Max.cont. Max.int. PFeSSUI’e(Mpa) Max.cont. Max.int.
[ 35 ] 7 [105] 14 [ 175 | 205 | 225 | [35 ] 7 T 105 ] 14 [ 175 ] 205 [ 225 |
15 35 75 114 | 150 | 187 | 220 | 239 15 44 94 142 | 187 | 233 [ 275 | 298
181 177 [ 170 | 165 | 158 | 151 141 145 | 142 | 186 | 132 | 127 | 121 113
20 35 75 115 152 | 190 | 222 | 240 ’g 30 42 93 144 | 190 | 237 | 278 | 300
363 | 355 | 346 | 340 [ 330 | 322 | 310 £ 291 284 | 277 | 272 | 264 | 258 | 248
. 33 75 115 155 | 193 | 226 | 240 g 0 41 92 144 | 194 | 241 282 | 300
485 | 479 | 464 | 453 | 444 | 437 | 415 o 388 | 384 | 372 | 363 | 356 | 350 | 332
50 30 73 113 | 153 | 190 | 223 | 237 50 37 91 141 191 237 | 278 | 296
610 | 602 | 594 | 580 | 565 | 556 | 530 489 | 482 | 476 | 465 | 453 | 445 | 425
60 28 70 110 | 150 | 188 | 220 | 235 60 35 87 137 | 187 | 235 | 273 | 293
735 | 724 | 714 | 698 | 680 | 670 | 642 589 | 580 | 572 | 559 | 545 | 537 | 514
65 27 68 108 148 | 186 | 215 | 233 75 34 85 135 | 185 | 232 | 268 | 291
801 790 | 775 | 760 | 742 | 727 | 704 Max.cont. 740 | 730 | 716 | 702 | 686 | 672 | 651
- 23 66 104 | 140 | 176 | 205 | 213 _ - 29 82 130 | 175 | 222 | 258 | 266
988 | 975 | 955 | 938 | 915 | 897 | 870 Max.int. 890 | 879 | 861 845 | 825 | 808 | 784
BM3Y 125(126.3mi/r) BM3Y 160(160.8ml/r)
Pressure(Mpa) Max.cont. Max.int. Pressure(Mpa) Max.cont. Max.int.
[ 85 ] 7 T 105 ] 14 [ 175 ] 205 | 225 | [ 35 ] 7 J 105 ] 14 | 175 ] 205 [ 225
15 54 117 | 179 [ 235 [ 293 | 348 | 375 15 70 147 | 228 | 300 [ 374 | 444 | 477
115 | 113 | 108 | 105 | 101 96 90 91 89 85 83 79 76 71
30 55 118 | 180 | 238 | 298 | 351 377 ’g 20 72 150 | 230 | 304 | 380 | 447 | 479
231 226 | 221 217 | 210 | 205 | 198 5 182 | 178 | 173 | 170 | 165 | 161 155
0 54 120 | 180 | 243 | 303 | 355 | 377 g 0 74 151 230 | 310 | 386 | 451 479
309 [ 305 | 296 | 289 | 283 | 279 | 265 i 243 | 240 | 232 | 227 | 222 | 219 | 208
50 51 118 | 177 | 240 | 298 | 351 372 50 71 147 | 226 | 306 | 380 | 447 | 473
389 | 384 | 379 | 370 | 360 | 354 | 338 305 | 301 297 | 290 | 283 | 278 | 265
60 48 114 | 178 | 235 | 295 | 347 | 369 60 68 143 | 220 | 300 | 376 | 442 | 469
468 | 461 455 | 445 | 433 | 427 | 409 368 | 362 | 357 | 349 | 340 | 335 | 321
75 42 109 | 169 | 232 | 292 | 342 | 366 25 64 138 | 216 | 296 | 372 | 437 | 465
589 | 581 570 | 559 | 546 | 535 | 518 Max.cont. 463 | 456 | 448 | 439 | 429 | 420 | 407
- 38 103 | 163 | 220 | 279 | 327 | 334 _ - 60 133 | 208 | 280 | 352 | 416 | 425
708 | 699 | 685 | 673 | 656 | 643 | 624 Meux.int. 556 | 549 | 538 | 528 | 515 | 505 | 490
@) : 163Nm
( Speed ) : 685r/min
l:l Cont.
o
www.rudiflex.com




NX RUDIFLEX THC

BMB3Y Orbit Hydraulic Motor With Disk Valve

Hl BM3Y PERFORMANCE DATA

Flow(L/min)

Max.cont.

Max.int.

Flow(L/min)

Max.cont.

Max.int.

Flow(L/min)

Max.cont.

Max.int.

BM3Y 200(200.6ml/r) BM3Y 250(252.6ml/r)
PTeSSUFe(MPa) Max.cont. Max.int. PreSSUfe(Mpa) Max.cont. Max.int.
[35 [ 7 [ 105 ] 14 [ 175 [ 205 | 225 | [35 [ 7 [105] 14 | 175 | 20 | 225 |
15 87 184 | 285 | 374 | 467 | 557 | 596 15 114 | 234 | 358 | 469 | 584 | 377 742
73 71 68 66 63 61 56 58 56 54 53 50 48 45
30 89 187 | 287 | 379 | 474 | 560 | 599 g 30 115 | 235 | 361 | 471 | 587 | 680 746
145 | 142 | 139 | 136 | 132 | 129 | 124 5 116 | 113 | 110 | 108 | 105 | 103 100
2 92 187 | 287 | 387 | 482 | 564 | 599 S 115 | 235 | 355 | 473 | 591 | 684 751
194 | 192 | 186 | 182 | 178 | 175 | 166 2 155 | 153 | 148 | 144 | 141 | 139 136
50 88 182 | 282 | 382 | 474 | 560 | 591 50 114 | 230 | 355 | 474 | 587 | 680 746
244 | 241 | 238 | 232 | 226 | 223 | 212 194 | 192 | 189 | 185 | 180 | 175 169
0 84 175 | 275 | 374 | 469 | 555 | 586 60 112 | 225 | 352 | 471 | 583 | 675 741
295 | 290 | 286 | 280 | 272 | 268 | 257 234 | 231 | 228 | 224 | 219 | 214 208
75 77 170 | 270 | 369 | 464 | 550 | 581 25 109 | 220 | 349 [ 467 | 578 | 669 735
370 | 365 | 358 | 351 | 343 | 336 | 325 Max.cont. 295 | 200 | 285 | 279 | 273 | 267 260
. 68 165 | 260 | 349 | 434 | 510 | 532 _ . 103 | 213 | 343 | 460 | 568 | 654 715
445 | 440 | 430 | 423 | 412 | 404 | 392 Maxint 354 | 350 | 342 | 334 | 326 | 320 310
BM3Y 315(321.5ml/r) BM3Y 400(401.9ml/r)
Pressure(Mpa) Max.cont. _Max.int. PreSSUfe(MPa) Max.cont.  Max.int.
[ 85 ] 7 J105] 14 [ 175 ] 20 225 | [ 35 ] 7 JT105] 14 [ 1565 [ 175 |
15 140 | 284 | 433 | 583 | 745 | 863 947 15 172 | 347 | 522 | 705 | 806 926
45 44 43 M 40 38 35 36 35 34 33 32 30
0 140 | 288 | 437 | 586 | 748 | 866 951 g 30 174 | 350 | 526 | 708 | 809 930
91 89 87 85 83 81 78 5 73 71 69 68 66 64
10 138 | 290 | 440 | 588 | 752 | 870 956 £ | 40 173 | 352 [ 529 [ 710 | 813 935
121 [ 120 | 116 | 113 | 111 | 109 106 e 97 96 93 91 89 86
0 136 | 291 | 439 | 587 | 748 | 866 951 50 171 | 350 | 531 | 710 | 809 930
153 | 151 | 149 | 145 | 141 | 139 136 122 | 121 | 119 | 116 | 113 110
60 134 | 286 | 435 | 583 | 744 | 862 947 60 168 | 343 | 522 | 705 | 801 924
184 | 181 | 179 | 175 | 170 | 166 160 147 | 145 | 143 | 140 | 136 130
25 131 | 280 | 431 [ 580 | 738 | 856 939 75 164 | 339 | 517 | 700 | 791 916
231 | 228 | 224 | 220 | 214 | 210 204 Max.cont. 185 | 183 | 179 | 176 | 171 163
0 125 [ 272 | 421 [ 570 | 718 | 826 899 _ - 160 | 325 | 503 | 680 | 766 886
278 | 275 | 269 | 264 | 258 | 253 243 Maxint. 223 | 220 | 215 | 211 | 206 196
@e) : 503Nm
( Speed) : 215r/min
BM3Y 500(476.5ml/r) B
Pressure(Mpa) Max.cont. _Max.nt.
[35 ] 7 JT1o5] 12 14
15 180 | 403 | 607 | 721 | 816
31 30 29 28 27
0 183 | 407 | 613 | 724 | 824
61 60 58 57 56
0 185 | 409 | 617 | 728 | 832
82 81 78 77 75
0 184 | 406 | 616 | 724 | 833
103 | 102 | 100 | 98 95
60 182 | 403 | 609 | 719 | 819
124 | 122 | 121 | 118 | 115
75 180 | 401 | 606 | 712 | 815
156 | 154 | 151 | 148 | 145 ‘ Cont.
- 173 | 391 | 601 | 702 | 803
188 | 185 | 182 | 178 | 174 Int.
www.rudiflex.com 75



NX RUDIFLEX THC

BM3Y Orbit Hydraulic Motor With Disk Valve

Il BM3Y Installation

Square flange A
132
6,195 T 2-C P(A,B)
_%
& I
33 S /BKJ o o
clrTre=mrr——] - o — X
3 & ’\ © =
\ /A
i
e =1l
22
| 695 = 527
Mounting surface L1
Max. L
2-hole oval flange AIl
6 19.5 -~ 2-913.5

.
N -
— \ /I-% a
.. & /(5 . / \
IS — ol Lo o 4l
s Aoy ° \ Vo 5
- 74
War W
[ 695 - 5‘2‘5’ N
" Mounting surfacd L1
Max. L 54
Square flange A2111
6195 1 2-C P(AB

_%
| & /M .
85 b /B"\J o 2
e : X
o — = o} N
o o ! 9_
3 n )
A 7 J
— “Hl
|| B 22
69.5 = 5 27
Mounting surface L1
Max. L

76 www.rudiflex.com



NX RUDIFLEX THC

BMB3Y Orbit Hydraulic Motor With Disk Valve

HBM3Y Installation

_%
- O [T
ec g /B\\J o &
ol 8 M BE
g n L\ J’ 5 N
A ¥
— d
R — 8| =
Mounting surface 69.5 5] __27
L1
Max. L

4-hole oval flange ATV

w
[¢)

P(A,B)

1A

4-913.5

54

$106.4

45°

D130

BM3Y-80 | BM3Y-100 | BM3Y-125 | BM3Y-160 | BM3Y-200 | BM3Y-250 | BM3Y-315 | BM3Y-400 | BM3Y-500
L 170 178 184 191 200 212 226 239

173.5
L1 125.5 129 133.5 139.5 146.5 155.5 167.5 181.5 1945
B 11 14.5 19 25 32 41 53 67 80
www.rudiflex.com

77



NX RUDIFLEX THC

BMB3Y Orbit Hydraulic Motor With Disk Valve

W BM3Y PORTS CODE

m

G1/2 (15) M10 (12) G1/4 (12)
Y1 M18 x 1.5 (15) M10 (12) M14x 1.5 (12)
Y2 M22 x 1.5 (15) M10 (12) M14x 1.5 (12)
Y3 M20 x 1.5 (15) M10 (12) M14x 1.5 (12)
Y5 7/8-14UNF (15) — 7/16-20 UNF(12)
Y8 NPT1/2 (15) M10 (12) G1/4 (12)
Y10 G1/2 (15) — G1/4 (12)

Note:P(A, B)-—Ports, C——Mounting Thread (—lIndicates no this thread ) , T—-Drain connettion

Bl BM3Y SHAFT VERSION

P1: ®25 Cylindrical shaft, parallel key8 x 7 x 32 P3: ©25.4 Cylindrical shaft, parallel key6.35 x 6.35 x 32
40
A-A
|A40 A-A o 5 lA 32 g 6.35 -0.03
.14 32 A 8-0.036 7 30
B / 5 o %) s —
§ 2118 3 2% % § H— -8 3 N
2 K A 15
» In q
488 49.5

P5: ©31.75 Cylindrical shaft, parallel key7.96 x 7.96 x 32 P10: ®32 Cylindrical shaft, parallel key10 x 8 x 45

48
56.5 A
5 32 A-A o |A 45 109,036
7.96.
|A 300 === P | 30°
/ /
o3 o 33| o o8
ele] -+ g o 5| = -H= § SAD
=L 1 % 3 o P v M
20| 20 Kl
A < A e
56

<I-- Motor mounting surface

78 www.rudiflex.com



NX RUDIFLEX THC

BM3Y Orbit Hydraulic Motor With Disk Valve

EBM3Y SHAFT VERSION

H1: ®30 Splined shaft, 6-30x25x6 H3: ©34.85 Splined shaft, 6-34.85 x 28.15 x 8.64
455 100
32 A-A 76 A-A
New 05 38
|A ;(o D25 7 - | A
88 < g °l§ B
=5l 2l 4 g 25 s ST - B
. i// 0 = )
i 20 | ki
20 6.7 "A
R K 108
55
H51: ®25.3 Splined shaft, 6-25.3 x21.4x6.2
43.2
25 A-A
) 21.430%
EIE 1rer o
8 é
20
Ia 535 g <I-- Motor mounting surface

www.rudiflex.com 79



NA RUDIFLEX' THOTH

BM3WY Orbit Hydraulic Motor With Disk Valve

W BM3WY Installation

Mounting surface 4-013.5 $160+0.2
8|16 T 2-C P(A,B)

; — / / 4/% %g \
| 5] (Z

1 Y ) <)

- > \ @/

16
102x102

$125-0.063
21

0
F3
]
21
—©
aaw
vy
16

46 27 5 27
L1 139X139
Max. L
127.5 135.5 141.5 148.5 157.5 169.5 183.5 196.5
L1 83 86.5 91 97 104 113 125 139 152
B 11 14.5 19 25 32 41 53 67 80

EBM3WY PORTS CODE

P(A. B)(deep) C ( deep) T ( deep )
Y G1/2 (15) M10 (12) G1/4 (12)
Y5 7/8-14UNF (15) — 7/16—20UNF (12)

Note:P(A. B)-—Ports, C——Mounting Thread ( —Indicates no this thread ) , T-—Drain connettion

80 www.rudiflex.com



NX RUDIFLEX THC

BM3WY Orbit Hydraulic Motor With Disk Valve

B BM3WY SHAFT VERSION

Z: ®35 Tapered shaft, taper1:10, parallel key 6 x 6 x 30 Z2: ©31.75 Tapered shaft, taper1:8, parallel key

7.96x7.96 x 25
A-A AA
13 4 30 0 55 7.96 5,03 e
A _ 6-0.039 15, 25 - @
I I e o4 pe]
L Og -]
T - w N 8
el ; O : 4l | e
8 5 [ehe T - g . 2 - - % 5
= EM [ % =t 4 8 %/
A = Al
<1110 N <118/
36
36 o
58 112
108.5

P10: ®32 Cylindrical shaft, parallel key10 x 8 x 45

H1: ®30 Splined shaft, 6-30 x 25 x 6

455
A56.5 A-A 32 \ A-A oo
. .
5 | 45 10-0.036 |A 30° ) D25 037
g —— 730°
A(HEIE = Cal R o o =
a7 8 = '
20 20 K
lA
1085 | 975
<1-- Motor mounting surface
www.rudiflex.com

81



NX RUDIFLEX THC

BM3SY Orbit Hydraulic Motor With Disk Valve

Il BM3SY Installation

38 30
23 G1/4" 2-M10  2-G1/2"
S 12d
Mounting surface / eep 12deep ” 15 deep /,_C}\
N
§ | [ / BN
@ N H% 4-011 5 d
D < 4 YA X f ) N
2 slRyYar [ (s R

S 1 > )

=] = gl ﬁ e 12520.2 7<1—5

=3 -~ oy 7

A T é
22 -
— B
6l 16 = 5| 27
L1 D145
25 Max. L

L 124 127.5 132 138 145 154 166 180 193
L1 79.5 83 87.5 93.5 100.5 109.5 121.5 135.5 148.5
B 11 14.5 19 25 32 41 53 67 80

W BM3SY DIMENSIONS OF THE ATTACHED COMPONENT

8.2 0 100X3
2.3
u| ‘
DP=12/24 !
=74 7=12 a=30° el H
- o A /
o| © e
A 2 g 8% i S i -
8 8 g2 q
e 7

20 4-M10 L.
27 15 deep 29
52 34

82 www.rudiflex.com



NX RUDIFLEX THC

BM3S3YOrbit Hydraulic Motor With Disk Valve

Il BM3S3Y Installation

——

Mounting surface

157.5
Z=12
v il 4-013.5
15 deep -
2-M10
12 deep
o ) 2127+0.2
P g N / B L/ e
= - x
S N L
b e S (7 ‘ 2
i
AN ) g

B 22

L1

42 Max.L

L 124 132 138 145 154 166 180 193

127.5
L1 79.5 83 87.5 93.5 100.5 109.5 121.5 135.5 148.5
B 11 14.5 19 25 32 41 53 67 80

www.rudiflex.com 83



NX RUDIFLEX THC

BM3Y. BM3WY. BM3SYSeries Mortor

W BM3Y. BM3WY. BM3SY Series Mortor

Direction of shaft ration: Standard

When facing shaft end of motor, shaft to rotate:
Clockwise when port “A” is pressurized.
Counter—clockwise port “B” is pressurized.

B PERMISSIBLE SHAFT LOADS

P (KN) Radial force —
30 P max=5KN
25 D <
20 A—BM3Y
B——BM3WY
15 —
\ \ -
10 — —
| —
I A . B P max=5KN
5
=)
0 20 40 60 80 100 110  mm

84 www.rudiflex.com



NX RUDIFLEX THC

BM3Y. BM3WY. BM3SY Series Mortor

W BM3Y ORDERING CODE

1 2 3 4 5 6 7
BM3Y | — V —
Pos.1 2 3 4
Series | Disp Output Flange

80 P1 | ®25 Cylindrical shaft, parallel key8 x 7 x 32 .
A | 4-0135 Square flange, pilot®82.5

100
P3 | ®25.4 Cylindrical shaft, parallel key6.35 x 6.35 x 32

125 Al | 2-©13.5 Oval flange, pilot®82.5
P5 | ®31.75 Cylindrical shaft, parallel key7.96 x 7.96 x 32

160

4-®1358 fl , pilot® 100
BM3Y 200 | P10 | ®32 Cylindrical shaft, parallel key10 x 8 x 45 A2ll quare flange, plle

250
H1 | ®30 Splined shaft, 6-30x25x6 AN | 4-®13.5 Oval flange, pilot®82.5
315
H3 | ©34.85 Splined shaft, 6-34.85x28.15 x 8.64
400

500 | H51| ©25.3 Splined shaft, 6-25.3x21.4x6.2

5 6 7
Ports
Code| ports(A,B)(deep) |Drain port T(deep)

Rotation
direction

Special features

Y G1/2(15) G1/4(12)

Y1 | M18x15(15) | Mi4x1.5(12)

Y2 M22 x 1.5(15) M14 x 1.5(12)
Omit Standard  |Omit|Standard

Y3 | M20x1.5(15) | M14x1.5(12)

L |Opposite

Y5 | 7/8-14UNF(15) | 7/16-20UNF(12)

Y8 NPT1/2(15) G1/4(12)

Y10 G1/2(15) G1/4(12)

www.rudiflex.com



NX RUDIFLEX THC

BM3Y. BM3WY. BM3SY Series Mortor

B BM3WY., BM3SY. BM3S3Y ORDERING CODE

1 2 3 4 5 6 7
BM3WY | — / —
Posd | 2 3 4
Series | Disp Output Flange
80 I
100 P10 | ®32 Cylindrical shaft, parallel key10 x 8 x 45
125
160 | H1 | ®30 Splined shaft, 6-30x25x6
BM3WY| 200 A | 4-©13.5 Square flange, pilot® 125
250 | 7z | ®35 Tapered shaft, taper1:10, parallel key6 x 6 x 30
315
400
500 Z2 | ®31.75 Tapered shaft, taper1:8, parallel key7.96 x 7.96 x 25
5 6 7
ports Special features Rotation
Code| Ports(A,B)(deep) |Drain port T(deep) P direction
Omit| Standard |Omit|Standard
Y G1/2(15) M14 x 1.5(12)
L |Opposite
Y5 | 7/8-14UNF(15) | 7/16-20UNF(12)
1 2 3 1 2 3
BM3SY | — / BM3S3Y | — /
Pos.1 2 3 Pos.1 2 3
Series | Disp Special features Series | Disp Special features
80 80
100 |Omit| Standard 100 |Omit| Standard
125 125
160 160
BM3SY | 54 BM3S3Y| 590
250 250
315 315
400 400
500 500
86 www.rudiflex.com




NX RUDIFLEX THC

BM4 Orbit Hydraulic Motor With Disk Valve

M BM4 TECHNICAL DATA
BM4-160 BM4-200 BM4-250 BM4-320 BM4-400

BM4S-160 BM4S-200 BM4S-250 BM4S-320 BM4S-400
BM4W-160 BM4W-200 BM4W-250 BM4W-320 BM4W-400

BM4-500
BM4S-500
BM4W-500

Displacement(ml/r) 158.8 200.8 252.2 317.5 401.6
cont. 20 20 20 20 18
Max.Pressure.Drop int ”
int.
(Mpa) 24 24 24 21
peak. 28 28 28 28 24
cont. 450 561 710 902 1008
Max.torque int
(N.m) int. 559 714 883 1143 1255
peak. 663 818 1021 1322 1431
Max.Speed ( cont.)(r/min ) 625 495 395 310 245
Max.Flow(cont.)(L/min) 100 100 100 100 100
Max.Output.Power(cont.)(Kw) 20.1 252 25.2 25.2 22
Weight (kg) 20.3 20.8 21.4 22.4 23

Il BM4Y TECHNICAL DATE

TYPE BM4Y-160 BM4Y-200 BM4Y-250 BM4Y-320 BM4Y-400
Displacement(mi/r) 158.8 200.8 252.2 317.5 401.6
cont. 24 24 24 23 21
Max.Pressure.Drop
(Mpa) int. 27 27 27 26 23
peak. 30 30 30 29 25
cont. 559 714 883 1095 1255
Max.torque
(N.m) int. 639 789 985 1227 1371
peak. 710 876 1093 1369 1490
Max.Speed ( cont.)(r/min ) 625 495 395 310 245
Max.Flow(L/min ) 100 100 100 100 100
Max.Output.Power(cont.)(Kw) 24 1 30 30 28.8 25.3
Weight (kg) 20.3 20.8 21.4 22.4 23

Intermittent operation the permissible values may occur for max.10% of every minute,
Peak load:the permissible values may occur for max.1% of every minute.

www.rudiflex.com

535.3

16

18

21

121

1377

1598

185

100

21

24

BM4Y-500

535.3
18
20
23

1377
1521
1750
185
100
241

24

87



NX RUDIFLEX THC

BM4 Orbit Hydraulic Motor With Disk Valve

Hl BM4 PERFORMANCE DATA

BM4 160[1 58.80m3/rev] BM4 200 [200.ch3/rev]
Pressure (Mpa) Max.cont. Max.int. Pressure (Mpa) Max.cont. Max.int.

4 | 8101216 2|2 4 | 8101216 20| 2]

10 85 169 | 219 | 264 | 347 | 429 | 514 10 119 | 221 | 275 | 323 | 431 | 532 | 636
61 60 59 57 55 51 45 48 47 46 43 40 38 34
20 86 174 | 225 | 266 | 357 | 441 | 535 20 120 | 227 | 283 | 330 | 445 | 547 | 661
= 123 | 122 | 119 | 116 | 111 | 105 97 = 97 96 94 92 89 86 77
5 40 87 173 | 226 | 266 | 366 | 452 | 550 S 40 115 | 229 | 281 | 334 | 451 | 560 | 680
é 254 | 251 | 248 | 241 | 235 | 228 | 216 é 199 | 197 | 195 | 191 | 187 | 182 | 171
60 79 171 | 226 | 266 | 366 | 450 | 549 60 111 | 225 | 280 | 334 | 454 | 560 | 682
378 | 374 | 369 | 363 | 356 | 347 | 337 306 | 301 | 298 | 296 | 288 | 282 | 269
80 75 166 | 220 | 265 | 364 | 447 | 544 80 103 | 220 | 275 | 333 | 450 | 557 | 680
502 | 499 | 495 | 488 | 480 | 472 | 457 403 | 401 | 397 | 392 | 385 | 378 | 367
y 100 67 154 | 209 | 258 | 355 | 437 | 536 100 94 216 | 272 | 327 | 447 | 551 | 676
ax.cont. 626 | 623 | 618 | 610 | 602 | 594 | 581 Max.cont. 503 | 500 | 496 | 492 | 485 | 477 | 470
. 125 56 142 | 211 | 251 | 345 | 430 | 530 125 80 198 | 262 | 316 | 436 | 538 | 662
Max.int. 785 | 779 | 773 | 765 | 756 | 746 | 729 627 | 623 | 619 | 614 | 607 | 600 | 584
67 184 | 247 | 308 | 425 | 526 | 648
) 150
Max.int. 758 | 754 | 749 | 741 | 731 | 720 | 696
BM4 250[252.2cm®/rev] BM4 320[317.5cm%/rev]
Pressure (Mpa) Max.cont. Max.int. Pressure (Mpa) Max.cont. Max.int.
|4 | 8 [ 101216 20| 2| |4 | 8 [ 101216 20| 2|
10 134 | 277 | 344 | 406 | 542 | 689 | 800 10 175 | 345 | 430 | 518 | 697 | 847 | 1011
39 39 38 37 35 33 32 31 30 29 28 27 26 24
20 139 | 287 | 353 | 419 | 563 | 708 | 828 20 180 | 361 | 449 | 534 | 719 | 871 | 1054
= 78 77 76 74 72 69 64 = 62 61 60 58 56 54 52
S 40 135 | 292 | 361 | 427 | 575 | 723 | 858 S 40 182 | 362 | 460 | 542 | 735 | 906 | 1092
ug- 159 | 157 | 155 | 152 | 149 | 145 | 137 ugg_ 126 | 125 | 123 | 120 | 117 | 114 | 109
60 128 | 285 | 361 | 428 | 574 | 705 | 861 60 180 | 361 | 473 | 544 | 733 | 914 | 1096
242 | 241 | 238 | 234 | 228 | 223 | 211 189 | 187 | 185 | 181 | 178 | 176 | 166
80 125 | 275 | 353 | 420 | 569 | 699 | 860 80 170 | 354 | 459 | 540 | 730 | 906 | 1095
323 | 322 | 320 | 314 | 309 | 305 | 290 251 | 249 | 248 | 243 | 238 | 234 | 224
100 123 | 274 | 344 | 414 | 565 | 695 | 853 100 161 | 342 | 447 | 537 | 720 | 895 | 1086
Max.cont. 404 | 402 | 399 | 395 | 389 | 380 | 366 Max.cont. 314 | 313 | 310 | 307 | 303 | 297 | 284
125 113 | 252 | 330 | 402 | 551 | 682 | 838 125 140 | 321 | 427 | 519 | 708 | 874 | 1071
505 | 502 | 498 | 492 | 485 | 478 | 463 391 | 389 | 386 | 382 | 378 | 373 | 360
150 85 235 | 310 | 385 | 535 | 666 | 822 150 113 | 303 | 412 | 501 | 677 | 849 | 1042
Max.int. 603 | 600 | 596 | 591 | 583 | 576 | 558 Max.int. 471 | 469 | 466 | 462 | 457 | 444 | 438
BM4 400[401.6cm%/rev] BM4 500[535.3cm’/rev]
Pressure (Mpa) Max.cont. Max.int. Pressure (Mpa) Max.cont. Max.int.
3| 6] 91215 18] 21| | 3|6 9121416 18]
10 165 | 343 | 524 | 669 | 827 | 982 | 1130 10 204 | 415 | 637 | 821 | 966 | 1098 | 1233
25 24 23 22 21 20 19 18 18 18 17 16 15 13
20 167 | 346 | 528 | 679 | 841 | 1001 | 1156 20 213 | 427 | 656 | 845 | 984 | 1122 | 1267

51 50 49 46 44 42 40
40 165 | 346 | 530 | 685 | 859 | 1020 | 1181
99 98 96 93 90 86 82

37 36 35 34 33 32 30
40 || 212 | 429 | 669 | 866 | 1007 | 1145 | 1308
75 74 73 72 70 68 64

Flow(L/min)
Flow(L/min)

60 163 | 338 | 526 | 682 | 860 | 1024 | 1187 60 | | 207 | 421 | 657 | 866 | 1001 | 1146 | 1296
| || 149 | 147 | 143 | 139 | 135 | 131 | 125 | || M3 | 12 | 111 | 109 | 107 | 105 | 101
80 155 | 330 | 517 | 672 | 853 | 1014 | 1181 80 196 | 397 | 640 | 853 | 990 | 1145 | 1289
| | [ 199 | 197 | 194 | 190 | 186 | 182 | 176 | | [ 151 | 150 | 149 | 147 | 145 | 143 | 138
100/ | 140 | 317 | 503 | 662 | 838 998 | 1171 100/ | 179 | 387 | 626 | 829 | 978 1126 | 1272
Maxcont. |~~~ || 249 | 247 | 245 | 241 | 235 | 231 | 225 Maxcont. |~~~ || 189 | 188 | 187 | 185 | 183 | 181 | 177
125|| 126 | 289 | 490 | 643 | 816 977 | 1142 125/ | 168 | 366 | 590 | 807 | 942 1103 | 1244
| || 311 | 309 | 307 | 303 | 298 | 294 | 287 | || 237 | 236 | 235 | 233 | 231 | 229 | 225
150| | 18 | 273 | 475 | 623 | 797 | 954 | 1119 150/ | 135 | 339 | 569 | 785 | 924 | 1074 | 1219
Max.int. 375 | 373 | 369 | 365 | 361 | 357 | 350 Max.int. 284 | 283 | 282 | 280 | 278 | 276 | 272

Cont.
Int.

( Torque ) : 797Nm
( Speed ) : 361r/min

88 www.rudiflex.com



WX RUDIFLEX THC

W BM4 Installation

Square flange A
T P(A.B 4-C
12| 22 ©160£0.2 4-014
12,5 /| 125 .
D \_j <
N
85 \ ol «
=l e § V2N _ o k/,\ R
[re) — &% © = 23 57 ©
N - =} o
NI A
[
—
80 B 12,5 12.5
Mounting surface 140x140
Max.L
Square flange A1
T 4-C ©160£0.2 o
12] 22 P(A.B)
V 12.5 12.5
praNi=!
YO E
3 N\ Y
4| {-=—=- - ) NP i (LI R -
g &% © r J - é
§ N N I -
ol [N |
8 5> A
4
B 125 12.5
80
140%140
Mounting surface Max.L
Square flange A4
T P(A,B) 4G
9,18 ©160£0.2 4-014
\ i\ 12.5 12.5
I
NE £
N
N N
o9 D na N -
== T T e
by ~
2 J
S / |
=
—
2 [ 68 B 12.5 12.5
140x140
Mounting surface | Max.L2

www.rudiflex.com



NX RUDIFLEX THC

BM4 Orbit Hydraulic Motor With Disk Valve

Hl BM4 Installation

T PA.B) 4-C 4-014.5
12| 22 P162+0.2
12.5 12.5
©
i ™ b
g5 N 2
Ss
E A | KL <] @
~ —) - _ ) - Ve \WPYRN " Ny g -
5l =2 Y VAP &
s b N\ & 8
I A NS S
o PanY —
O ——
4
— B 12.5 12.5
80
140x140
Mounting surface
Max.L

BM4-160 BM4-200 BM4-250 BM4-320 BM4-400 BM4-500
L 217.5 222 227.5 234.5 243.5 262
B 12 16.5 22 29 38 56.5
L2 205.5 210 215.5 222.5 231.5 250

M BM4 PORTS CODE

P(A. B)(deep) C (deep) T (deep)
Y G3/4 (15) M10 (12) G1/4(12)
Y3 M27 x 2(15) M10 (12) M14 x 1.5(12)
Y4 M22 x 1.5(15) M10 (12) M14 x 1.5(12)
Y8 7/8-14UNF(15) — 7/16-20UNF(12)
Y10 1 1/16-12UN(15) — 9/16-18UNF(12)

P(A. B)--Ports, C——Mounting Thread ( —Indicates no this thread ) , T--Drain connettion

90 www.rudiflex.com



NX RUDIFLEX THC

BM4 Orbit Hydraulic Motor With Disk Valve

W BM4 SHAFT VERSION

Only match A,A1,A7 flange

P: ®40 Cylindrical shaft, parallel key12 x 8 x 50 P1: ®32 Cylindrical shaft, parallel key10 x 8 x 50
A A-A .
| i /‘ool 12504 Al ¥ /“S ! 10-8 036

40505
M12
.
d60
4339,
®32.00%
M12
|-
<§
60
\{
359

28

28 Al 60
Al 60 < 74.5 R
74.5
P13:®31.75 Cylindrical shaft, parallel key7.96 x 7.96 x 36 P33: ®40 Cylindrical shaft, parallel key12 x 8 x 70
A A-A
| A-A A| 3 0
= g 7.96 .g‘os S 70 '_-_- SOO: 1200
sTo I — —
sz
‘e © o o8 V7
¢ | SHI)- (¥ et /7@ 1L 3
EmES 3 g =0 N 2
Al N 28
Kl
53 AI 82
76.5 101.5

< : Motor mounting surface

www.rudiflex.com



NX RUDIFLEX THC

BM4 Orbit Hydraulic Motor With Disk Valve

Bl BM4 SHAFT VERSION

Only match A,A1,A7 flange

H4: ©35 Splined shaft, 6-35x29 x 10 H5: ®©35 Splined shaft, 6-35 x 29 x 6
41 A-A 41 A-A
A ERTIgFoN Al TR ©290%
Wy | HEI=S2 e

28

28

6x60° Algis
76

Al 615

76

K3: ©38.1 involute splined shaft 17-DP12/24 a=30°

56
Al

Iw

-0.025

0

M12

$38.1

28

Al g K
101.5

Note: Flange with A4 type, hydraulic motor shaft from the mounting surface to increase 12mm.

< : Motor mounting surface

92 www.rudiflex.com



NX RUDIFLEX THC

BM4W Orbit Hydraulic Motor With Disk Valve

W BM4W ORDERING CODE

4-018

©200+0.2
7,18 8 T
P(A.B)
M . 125 [ 125
S % -
/—\ & /
iia gg g &l g
_ _ _ I = =18 AN/ ] <
3 SR 1T st g
— 5 N I f’ Y -
\ - @ ‘\J
o A Y
Y T
E\
12.5 125
N |
| —TB 23 4-C
98
I
Max.L

180%180

Mounting surface

BM4W-160 BM4W-200 BM4W-250 BM4W-320 BM4W-400 BM4W-500
L 136 177

131.5 142.5 149.5 158.5

B 12 16.5 22 29 38

W BM4W PORTS CODE

P(A. B)(deep)

56.5

Y G3/4 (15) M10 (12)

G1/4(12)
P(A. B)--Ports, C-—Mounting Thread (—Indicates no this thread ) , T-—Drain connettion
H BM4W SHAFT VERSION
P31: ©40 Cylindrical shaft, parallel key12 x 8 x 70 Z2: ©45 Tapered shaft, taper1:10, parallelkey12 x 8 x 28
A-A A-A
Al El 2 12 84 34 12 Qoss
e 2 -0.043 A 1
5 70 e |
- -
88| o % o3 ] 2 N? | _ Q - /
E IR 2 Sl 2155 <1: 10 ME _ / o3
e | y\ ©
=] | 3
28 ” A5 . A
Al 82
182 82
182
www.rudiflex.com 93



NX RUDIFLEX THC

BM4S Orbit Hydraulic Motor With Disk Valve

l BM4S INSTALLATION

30

| G 4-M10 '
7 12
12. 12.5
- o —3
(J & K\
wo \
80 r,\E N o] e
N T B N ey o v
g | - Xs o
o | J g
N Ty =)
12.5 12.5 \‘E
2-G3/4"
| B 15
8[ .18
44
Max.L
BM4S-160 BM4S-200 BM4S-250 BM4S-320 BM4S-400 BM4S-500
L 148.5 153 158.5 165.5 174.5 193
B 12 16.5 22 29 38 56.5
B BM4S SHAFT VERSION
12 0 125x3

DP12/24 Z=16
N _3

|06

©90
|
1
©52
DH3

|
1
P39
P60
$125+0.063

$133-0.3

26 4-M12
18 33

46

67

94 www.rudiflex.com



NX RUDIFLEX THC

BM4. BM4W. BM4S Series Mortor

Il BM4, BM4W. BM4S Series Mortor

Direction of shaft ration: Standard

When facing shaft end of motor, shaft to rotate:

Clockwise when port “A” is pressurized.

Counter—clockwise port “B” is pressurized.

B PERMISSIBLE SHAFT LOADS

P (KN) Radial force

40
30
A—-BM4
o0 B-—-BM4W
\ |
— |A B
10
0
50 100 150 180 mm
www.rudiflex.com

P max=10KN
<)

P max=10KN
<4

95



NX RUDIFLEX THC

BM4. BM4W. BM4S Series Mortor

Hl BM4, BM4W, BM4S ORDERING CODE

1 2 3 4 5 6 7
BM4 | — s/ —
Pos.1 2 3 4
Series | Disp Output Flange

160 | P33 | ®40 Cylindrical shaft, parallel key12 x 8 x 70
A | 4-®14 Oval flange, pilot® 125

P | ®40 Cylindrical shaft, parallel key12 x 8 x 50

200
P1 | ®32 Cylindrical shaft, parallel key10 x 8 x 50 A1 | 4-®14 Oval flange, pilot®90

250

BM4 P13 | ©31.75 Cylindrical shaft, parallel key7.96 x 7.96 x 36
320
A4 | 4-®14 Oval flange, pilot® 125

H4 | ©35 Splined shaft, 6-35x29x 10

400

H5 | ®35 Splined shaft, 6-35x29x6
A7 | 4-®14.5 Oval flange, pilot® 127

500 | k3 | ©38.1 involute splined shaft, 17-DP12/24 a=30°

5 6 7
Ports

Rotation

Special features e
direction

Code Ports(A,B)(deep) [Drain port T(deep)

Y G3/4(15) G1/4(12)

Y3 |  M27x2(15) M14 x 1.5(12)

Omit Standard  |Omit/Standard

Y4 M22 x 1.5(15) M14 x1.5(12)
T7 |With dustproof ring| | |Opposite

Y8 | 7/8-14UNF(15) | 7/16-20UNF(12)

Y10| 1 1/16-12UN(15) | 9/16-18UNF(12)

96 www.rudiflex.com



NX RUDIFLEX THC

BM4. BM4W. BM4S Series Mortor

B BM4, BM4W., BM4S ORDERING CODE

1 2 3 4 5 6 7
BM4W | — / —
Pos.1 | 2 3 4
Series | Disp Output Flange
160
200 | P31 | ®©40 Cylindrical shaft, parallel key12x 8 x 70
BM4wW %gg A | 4-®18 Oval flange, pilot® 160
ggg 72 | ©45 Tapered shaft, taper1:10, parallel keyB12x 8 x 28
5 6 7
Ports . Rotation
Code . Special features direction
Ports(A,B)(deep) |Drain port T(deep)
. Omit|Standard
Y GB3/4(15) G1/4(12) Omit|  Standard
L
Opposite
1 2 3
BM4S | — /
Pos.1 2 3
Series | Disp Special features
160 Omit Standard
200
250
BM4S
320
400
500
www.rudiflex.com

97



NX RUDIFLEX THC

BMS5 Orbit Hydraulic Motor With Disk Valve

l BM5 TECHNICAL DATA

BM5-315 BM5-400 =]\ R 0] BM5-630 BM5-800 BM5-985
BM5S-315 BM5S-400 BM5S-500 BM5S-630 BM5S-800 BM5S-985

BM5W-315 BM5W-400 BM5W-500 BM5W-630 BM5W-800 BM5W-985

Displacement(ml/r) 314.9 399.7 496.6 617.8 787.4 969.1

cont. 20 20 20 18 16 14
Max.Pressure.Drop .

int. 24 24 24 21 18 16
(Mpa)

peak. 28 28 28 24 21 18

cont. 873 1108 1385 1570 1773 1900
Max.torque .

int. 1119 1440 1783 1951 2122 2133
(N.m)

peak. 1293 1650 2060 2249 2481 2399
Max.Speed(cont.)(r/min) 475 375 300 240 190 150
Max.Flow(cont.)(L/min) 150 150 150 150 150 150
Max.Output.Power(cont.)(Kw) 32 32 32 32 32 24
Weight (kg) 30.7 31.5 324 33.6 35.2 37.2

Intermittent operation the permissible values may occur for max. 10% of every minute

Peak load: the permissible values may occur for max. 1% of every minute

Bl PERMISSIBLE SHAFT LOADS

P (KN) Radial force

0
60 +
50 P max=15KN
[a—} )
40
B N Ll
» o
\ A - +
20 I
P max=1 5KN
10 )
0
25 50 75 100 125 150 175 mm H

98 www.rudiflex.com



NX RUDIFLEX THC

BM5 Orbit Hydraulic Motor With Disk Valve

l BM5 PERFORMANCE DATA

BM5 315[314.9ml/r] BM5 400[399.7ml/r]
Pressure (Mpa) Max.cont. Max.int. Pressure (Mpa) Max.cont. Max.int.
‘3.5’7‘10‘14‘18’20‘24‘ ‘3.5‘7‘10‘14‘18’20‘24‘
10| 132 | 278 | 416 | 576 | 701 | 799 | 945 10 || 175 [ 367 | 542 | 740 | 923 [ 1050 1233
| || 28 | 25 | 24 | 23 | 21 | 18 | 15 | || 21 | 21 | 20 | 19 | 18 | 17 | 15
o0 | | 145 | 297 | 440 | 601 | 744 | 846 | 1011 o0 | | 187 | 380 | 563 | 778 | 964 | 1099 | 1284
= ||| 58 | 57 | 56 | 55 | 54 | 51 | 47 = |7 || 46 | 46 | 45 | 44 | 42 | 41 | 39
€ |50 || 141 | 295 | 439 | 618 | 770 | 884 | 1051 € |50 |] 191|384 | 575 | 803 | 992 | 1131 1364
£ | || 153|152 | 150 | 148 | 145 | 141 | 134 2 | || 19| 118 | 118 | 117 | 115 | 113 | 108
= 75 || 135 | 287 | 433 | 607 | 771 | 888 | 1057 * 75 || 186 | 376 | 569 | 799 | 995 | 1133 | 1366
| 7| 233 | 231 | 228 | 223 | 219 | 214 | 206 | "] 183 | 181 | 178 | 174 | 171 | 165 | 159
100| | 129 | 281 | 427 [ 601 | 765 | 885 | 1047 100| | 164 | 367 | 566 | 789 | 988 | 1130 | 1359
||| 311 | 309 | 307 | 304 | 299 | 294 | 286 ||| 247 | 246 | 244 | 242 | 238 | 234 | 225
125| | 116 | 270 | 418 [ 592 | 755 | 870 [ 1033 125| | 159 | 357 | 556 | 778 | 974 | 11231348
| "7|| 389 | 387 | 385 | 382 | 378 | 372 | 365 | “7|| 310 | 308 | 305 | 302 | 296 | 288 | 281
waxcont | 150 | | 108 | 260 | 411 | 581 | 745 | 856 | 1019 waxcont | 150 | | 151 | 344 | 533 | 764 | 962 | 1111 [ 1326
| || 471 | 469 | 467 | 462 | 455 | 447 | 434 ||| 372 | 371 | 369 | 366 | 361 | 351 | 340
160| | 101 | 253 | 406 | 575 | 737 | 846 | 1011 175| | 136 | 330 | 528 | 748 | 944 | 1092 1314
||| 503 | 501 | 497 | 493 | 487 | 478 | 465 ||| 436 | 434 | 431 | 427 | 422 | 415 | 407
waxit. |200|| 77 | 235 | 389 | 560 | 716 | 823 | 989 waxint |200| | 113 | 316 | 511 | 735 | 924 | 1076 1294
"7 ]| 631 | 629 | 624 | 618 | 610 | 598 | 576 | "7 || 498 | 496 | 492 | 485 | 477 | 470 | 460
BMS5 500[496.6ml/r] BMS5 630[617.8ml/r]
Pressure (Mpa) Max.cont. Max.int. Pressure (Mpa) Max.cont. Max.int.
1 35] 7 | 10 ] 14| 18| 20 | 24 | (35] 6 | 9 |12 ] 15| 18| 21 |
10 || 232 | 448 [ 667 | 919 [ 1140 [ 1296 [ 1540 10 || 260 | 484 [ 753 [ 1020 [ 1175 [ 1436 | 1654
| (|18 | 18 | 17 | 17 | 16 | 14 | 1 1115 | 14 | 14 | 13 | 13 | 12 | 1
20 | | 235 | 480 | 707 | 961 [ 1180 | 1335 | 1588 o0 | | 267 | 512 | 778 [ 10211219 | 1490 | 1728
= ||| 38 | 37 | 37 | 35 | 34 | 33 | 30 = |7 || 30 | 30 | 29 | 29 | 28 | 26 | 24
E |50 || 230 [ 479 | 726 | 982 [ 1217 | 1388 | 1670 E [ 5o || 268 [ 514 | 805 | 1054|1264 | 1559 | 1813
E | || 97 | 96 | 95 | 94 | 92 | 89 | 84 : | || 78 | 78 | 77 | 74 | 73 | 71 | 67
* 75 || 228 | 477 | 720 | 987 [ 12341413 1692 * 75 | | 250 | 508 | 800 | 1038 [ 1253 | 1557 | 1821
| "7 || 146 | 145 | 143 | 141 | 138 | 133 | 125 7] 118 | 117 | 114 | 112 | 110 | 107 | 101
100| | 218 | 470 | 717 | 983 | 1235|1410 | 1686 100| | 245 | 499 | 794 | 1013|1251 | 1552 | 1822
||| 197 | 195 | 193 | 190 | 186 | 181 | 173 ||| 157 | 156 | 154 | 152 | 149 | 146 | 140
125| | 211 | 463 | 711 | 971 [ 1226 | 1399 | 1672 15| | 233 | 478 | 776 | 993 | 1238 | 1538 | 1808
| 77| | 247 | 246 | 244 | 241 | 237 | 233 | 225 | "7 198 | 197 | 195 | 193 | 191 | 187 | 181
waxcont | 150 | | 193 | 445 | 693 | 966 | 1198 | 1369 | 1663 waxcont | 150 | | 222 | 459 | 757 | 985 | 1233|1530 | 1787
||| 300 | 299 | 296 | 293 | 288 | 282 | 271 ||| 238 | 237 | 236 | 234 | 232 | 229 | 221
75| | 174 [ 427 | 681 | 955 | 1186 | 1347 | 1643 175| | 195 | 450 | 738 | 975 [ 1205 | 1517 | 1769
||| 350 | 349 | 347 | 343 | 339 | 334 | 324 ||| 279 | 278 | 277 | 274 | 270 | 265 | 260
waxint. | 200| | 154 | 405 | 648 | 933 [ 1167 | 1327 | 1626 waxint. | 200| | 169 | 435 | 696 | 944 [ 1187 | 1493 | 1746
|~ || 401 | 400 | 398 | 395 | 390 | 382 | 370 |~ || 320 | 320 | 318 | 316 | 313 | 306 | 294
BMS5 800[787.4ml/r] BMS5 985[969.1ml/r]
Pressure (Mpa) Max.cont. Max.int. Pressure (Mpa) Max.cont. Max.int.
(25| 5 | 8 [10] 13| 16 18 | (25 5 | 7 [ 10] 14| 16 |
10 || 273 | 555 | 816 [ 1076 | 1381 [ 1683 | 1882 10 || 305 | 627 | 951 [ 1371 1936 [ 2212
/|11 | 10 | 10 | 9 8 8 7 ) 9 9 8 7 6
o0 | | 277 | 561 | 831 [ 1130 | 1431 1753 | 1960 o0 | | 313 | 634 | 957 | 1380 | 1938 | 2222
= ||| 23 | 22| 22 | 21| 2 | 18| 16 = |7 || 29 | 28 | 27 | 26 | 23 | 21
£ [5o || 283 [ 572 | 841 [ 1142|1438 1760 | 1967 E [ 5o |] 319 ] 641 | 971 [1392] 1973|2232
2 | || 61 | 60 | 58 | 57 | 55 | 53 | 49 E | || 48 | 47 | 46 | 44 | 42 | 39
* 75 | | 264 | 570 | 840 | 1145 | 1440 | 1756 | 1962 v 75 || 311 | 629 | 966 | 1395 | 1961 | 2228
| "] 93 | 92 | 91 | 89 | 85 | 82 | 78 || 74 | 73 | 72 | 69 | 67 | 64
100| | 247 | 556 | 826 | 1121|1423 | 1737 | 1951 100| | 303 | 621 | 962 | 1388 | 1952 | 2196
|| 124 | 123 | 122 | 120 | 117 | 113 | 107 ||| 100 | 99 | 97 | 95 | 92 | 88
125|| 238 | 526 | 810 | 1099 | 1403 | 1709 | 1942 15| | 297 | 611 | 955 [ 1379 1946 | 2177
| "7 156 | 155 | 153 | 150 | 145 | 141 | 135 | "7 126 | 125 | 123 | 120 | 116 | 112
waxcont | 150 | | 232 | 517 | 794 | 1083 | 1377 | 1685 | 1926 waxcont | 150 | | 272 | 589 | 941 | 1339 | 1922 | 2162
||| 188 | 186 | 184 | 181 | 177 | 172 | 166 ||| 152 | 151 | 149 | 147 | 143 | 136
175| | 211 | 495 | 780 | 1061 | 1354 | 1669 | 1903 175| | 258 | 568 | 926 | 1310 | 1885 | 2114
||| 251 | 249 | 247 | 244 | 241 | 236 | 229 ||| 178 | 176 | 174 | 170 | 165 | 158
waxint. | 200| | 194 | 460 | 752 | 1045 [ 1339 | 1652 | 1807 waxint. | 200| | 163 | 502 | 849 | 1240 [ 1787 | 1991
|~ || 302 | 301 | 300 | 298 | 293 | 288 | 282 |~ || 245 | 242 | 238 | 234 | 230 | 223

Cont.
(Torque ) : 1045Nm
(Speed) : 298r/min Int.

www.rudiflex.com



NX RUDIFLEX THC

BM5 Orbit Hydraulic Motor With Disk Valve

Hl BM5 Installation

A Square flange A
1410, 20 P(A,B
— 13.5 13.5 4-C
el éll
& 7T
o e
] BN | R 9
oggf ——— i
o \ J <1 Y 0
& N Q »\ & <
NN
= S /R
= =
| 13.5, 13.5
39.4 58 B o
Mounting surface | Max.L
A1 Square flange A1
T P(A,B
29 \ 13.5 135 4C
o
R~
D
®o 0
38 | Ve— \3\ S 7N g
E=
g N R
< W
2]
= D /A
-
13.5 13.p
10 88 B 0
Mounting surface Max.L1
A7 Square flange A7
T P(A,B
29 \ 13.5 13.5 4-C
NN
A
by
<!
23 T o o
EE l— @ N 3
~ 7 5 %
(] r 0 e
& Q //:§“ « -
- \J
=
13.5 18.
10 88 B 0
Mounting surface Max.L1
100 www.rudiflex.com

4-918

%{ ©200+0.2
180 x 180
4-014
©160+0.2
|
7z
Y
72.5 81
140x140
4-015.4
©162+0.2
|

72.5

81

140%140




NA RUDIFLEX' THOTH

BM5 Orbit Hydraulic Motor With Disk Valve

BM5-400

BM5-500

223
253

26

BM5-630 BM5-800 BM5-985
255 270
285 300
58 73

Hl BM5 PORTS CODE

Y1

Y2

Y3

Y8

P(A. B)(deep)

G1(18)
G3/4(18)
M33 x 2(18)
M27 x 2(18)

1 5/16-12UN(18)

M12(12) G1/4(12)
M12(12) G1/4(12)
M12(12) M14 x 1.5(12)
M12(12) M14 x 1.5(12)

— 9/16-18UNF(12)

P(A. B)—-Ports, C-—Mounting Thread (—Indicates no this thread ) , T--Drain connettion

www.rudiflex.com

101



BM5 Orbit Hydraulic Motor With Disk Valve

M BM5 SHAFT VERSION

Only match A1,A7 flange
P: ®50 Cylindrical shaft, parallel key14 x 9 x 70

0.025
0.050
2

®50 0,

'
P60

28

P12:®57.15 Cylindrical shaft, parallel key12.7 x 12.7 x 57

12 57 A
gl O
os| Z
o 2=y L gl
B © /
S
26 I
79.5A q
92.5

H4: ®40 Splined shaft,

-0.050
-0.089

12

40

@45
I

28

A-A

14 -3.043

0
-0.2

| 535

A-A

12.7 B.027

0
-0.2

62.9

8-40x35x%x7

-0.040
0.098

8-7 0.

<] ': Motor mounting surface

102

-0.15

D35.0.35

NX RUDIFLEX THC

P1: ®40 Cylindrical shaft, parallel key12 x 8 x 45

-0.025
0.050

M12

P40 -0;

28

55

D60

68

+0.018
0.002

©50-+0.
12

dlbo

28

0
-0.2

43

A-A

0
12 -0.043

%

P99: ®50 Cylindrical shaft, parallel key14 x 9 x 70

14 -8.043

0
-0.2

| 53.5

H5: ©40 Splined shaft, 6-40x 35x 10

51.5

-0.050
-0.089

M12

40

www.rudiflex.com

A4A

-0.040
0.098

6-10.-0,

3505




NX RUDIFLEX THC

BM5 Orbit Hydraulic Motor With Disk Valve

Bl BM5 SHAFT VERSION

Only match A1,A7 flange
K2: ®44 involute splined shaft m2.5 z16 a=30° K3: ®45 involute splined shaft m2.5 z17 a=30°

1.5/'73% A il

-0.050
-0.089

D44
;
]
|
i
|
45
|
|

a5

A 74
87 75

Note: Flange with A type, hydraulic motor shaft from the mounting surface to increase 3omm.

< : Motor mounting surface

www.rudiflex.com 103



WX RUDIFLEX THC

M BM5W Installation

Gi/4" 412 4-018 $224+0.2
Mounting surface | 12deep 12 deep
| I 135 135
g D 3/
o a f\
@ <
S > S R 2 r\/ & g
& — T [y BN/ x
1 8 o Q 2
5 S )
SNNAPA
J _§-
N B 13.5 13.5 2-G1"
25| ] 24 18 deep
84 10020 4
109.5 Max.L 196X198
TYPE m BM5W-400 BM5W-500 BM5W-630 BM5W-800 BM5W-985
L 148 155 163 174 187 202
B 19 26 34 44 58 73
H BM5W SHAFT VERSION
P: ®50 Cylindrical shaft, parallel key 14X9X70 Z: ©60 Tapered shaft, taper1: 10, parallel key 16X10X32
3 23 7 40 AA
| A-A , 9
*5 A 70 4 R 14 S 043 1A | 16001
. | =20 )
0o
il A i B
oco|= O 0 N~ N Q ') —
P 2IE I p=1 - e © e oS
8 224 © u <3110 | 3
2 =) i g
79.5 A
| <
A 1925 70
105
218

<I-- Motor mounting surface

104 www.rudiflex.com



NX RUDIFLEX THC

BMS5S Orbit Hydraulic Motor With Disk Valve

M BM5S Installation

35 4-M12

Mounting surface /12 deep 13.5 13.5

Tk a0t

$180+0.2

&

$140-0.063
234 I234
L
g
©
=)
25
145X145

5 | 135 135 N\ 2-Gt" -C
| 24 18deep
8 20
207
51 Max.L

TYPE BM5S-315 BM5S-400 BM5S-500 BM5S-630 BM5S-800 BM5S-985

L 170 177 185 195 209 224

B 19 26 34 44 58 73

W BM5S SHAFT VERSION

9 0 140X3
23

m=2.5
| z=16 a=30°
f 0.4

06
%

ob1

$103

P48
P60
©140+0.063
$147.9-0.3

32 4-M12 _.8
53 18 deep 33

76

www.rudiflex.com 105



WX RUDIFLEX THC

H BM5., BM5W. BM5S Series Mortor

Direction of shaft ration: Standard

When facing shaft end of motor, shaft to rotate:
Clockwise when port “A” is pressurized.
Counter—clockwise port “B” is pressurized.

106 www.rudiflex.com



BM5. BM5W, BMS5S Ordering Code

NX RUDIFLEX THC

Bl BM5, BM5W, BM5S ORDERING CODE

1 2 3 4 5 6 7
BM5 | — / —
Pos.1 2 3 4
Series | Disp Output Flange
315 ) ®50 Cylindrical shaft, parallel key14 x 9 x 70
P1 | ®40 Cylindrical shaft, parallel key12 x 8 x 45 A | 4-D18 Square flange, pilot® 160
400
p12 | ®57.15 Cylindrical shaft, parallel key12.7 x 12.7 x 57
500 L
P99 | ®50 Cylindrical shaft, parallel key14 x9x 70
A1 - i
BMS5 4-® 14 Square flange, pilot® 125
H4 | D40 Splined shaft, 8-40x35x7
630
H5 | ®40 Splined shaft, 6-40x35x 10
800 . ' A7 | 4-®15.4 Square flange, pilot® 127
K2 | ®44 involute splined shaft, m2.5,216,a=30°
085 K3 | ®45 involute splined shaft, m2.5,217,a=30°
5 6 7
Ports Rotation
Code Ports(A,B)(deep) [Drain port T(deep) Special features direction
Y G1(18) G1/4(12)
Y1 G3/4(18) G1/4(12)
Omit| Standard |Omit/Standard
Y2 M33x 2(18) M14 x 1.5(12)
L |Opposite
Y3 M27 x 2(18) M14 x 1.5(12)
Y8 | 15/16-12UN(18) | 9/16-18UNF(12)
www.rudiflex.com

107



NX RUDIFLEX THC

BM5. BM5W, BM5S Ordering Code

B BM5, BM5W, BM5S ORDERING CODE

1 2 3 4 5 6 7
BM5W | — / —
Pos.1 2 3 4
Series | Disp Output Flange
315
400 P | ®50 Cylindrical shaft, parallel key14 x 9x 70
BM5W ggg A | 4-®18 Square flange, pilot® 180
800 | Z | ®60 Tapered shaft, taper1:10, parallel key 16 x 10 x 32
985
5 6 7
rons Special features Rotation
Code| Ports(A,B)(deep) |Drain port T(deep) P direction
Omit Standard  |Omit|Standard
Y G1(18) G1/4(12)
L |Opposite
1 2 3
BM5S | — /
Pos.1 2 3
Series | Disp Special features
315
400 |Omit| Standard
500
BM5S 630
800
985
108 www.rudiflex.com




NX RUDIFLEX THC

BM6 Orbit Hydraulic Motor With Disk Valve

l BM6 TECHNICAL DATA

TYPE BM6-800 BM6-1000 BM6-1250

1186.8

Displacement(mi/r)

cont.
Max.Pressure.Drop int.
(Mpa)

peak.

cont.
Max.torque int.
(N.m)

peak.

Speed.Range(cont.)(r/min)
Max.Flow(cont.)(L/min)
Max.Output.Power(cont.)(Kw)

Weight (kg)

759.6

16

18

21

1690

1903

2220

5-200

160

35

54

949.5

16

18

21

2160

2379

2774

5-160

160

35

56

Intermittent operation the permissible values may occur for max. 10% of every minute

Peak load: the permissible values may occur for max. 1% of every minute

Hl BM6 PERFORMANCE DATA

BM6 800[759.6ml/r]
Pressure (Mpa)

Max.cont. Max.int.

BM6 1000[949.5ml/]

Pressure (Mpa)

16

18

21

2650

2973

3469

5-130

160

35

58

Max.cont. Max.int.

‘3‘5‘7‘10.5‘12‘14‘16‘18‘ ’3‘5‘7‘10.5’12‘14‘16‘18‘
10 |[ 233 | 490 | 683 15 | [ 366 | 602 | 836 | 1250 [ 1438
U 13 | 13 | 12 7 14 13 13 | 12 | 1
15 || 230 | 485 | 680 | 1005 | 1145 | 1340 a0 | | 364 | 600 | 834 | 1248 1432 | 1669
71l 20| 20 | 19 | 17 | 16 | 15 %" 31 | 31| 30 | 30 | 20 | 28
a0 || 297 | 481 | 678 | 1003 | 1142 | 1336 | 1685 | 1921 45 | | 362 | 598 | 832 | 1245 1428 | 1667
"1l 39 | 38 | 38 | 37 | 37 | 36 | 35 | 32 77| 46 | 45 | 45 | 44 | 43 | 43
45 | | 295 | 479 | 675 | 1000 | 1140 | 1332 | 1680 60 || 360 | 595 | 830 | 1242|1420 | 1662 | 2012 | 2316
™| 58 | 58 | 57 | 57 | 56 | 55 | 54 "1l 62 | 61 | 61 | 60 | 59 | 58 | 57 | 54
- 6o | [ 292 | 476 | 671 | 998 | 1138 | 1329 | 1699 = |75 || 358 | 593 | 828 | 1240|1418 1658 | 2006
E Tl 1 16|75 | 75 | 74 | 74 E Pl 16| 75|74 | 73 | 72 | 72
T [ ,5 || 288 | 473 | 668 | 995 | 1135|1325 1695 T [g || 354 | 500 | 826 | 1238 1415 | 1651 | 2003
© ™|/ 96 | 95 | 94 | 94 | 93 | 92 | o1 © %]l 93 | 92 | 92 | 91 | 90 | 89 | 88
o0 || 283 | 471 | 660 | 990 | 1132 | 1320 1690 105| | 350 | 581 | 801 | 1221|1402 | 1648
U 15 114 | 113 | 113 112 | 111 | 110 71| 108 | 107 | 106 | 105 | 104 | 103
105 | 280 | 463 | 650 | 982 | 1120 | 1312 120 571 | 791 | 1210 | 1394 | 1432
701 135 | 134 | 133 | 132 | 130 | 129 T 123 | 122 | 121 | 120 | 119
120 451 | 635 | 968 | 1111 | 1300 120 552 | 772 | 1196 | 1385 | 1425
i 153 | 152 | 151 | 149 | 147 T 143 | 142 | 140 | 139 | 138
140 440 | 620 | 952 | 1101 o 160 761 | 1186 | 1368
- 178 | 176 | 175 | 173 e 163 | 162 | 161
voxcont | 160 612 | 932 | 1092 v 190 742 | 1165 | 1352
i 198 | 197 | 196 i 193 | 192 | 191
. 913 [ 1071
Max.int. | 190 2 240 238 (Torque ) : 1165Nm Cont.
- ( Speed ) : 192r/min |:| Int.
www.rudiflex.com 109



NX RUDIFLEX THC

BM6 Orbit Hydraulic Motor With Disk Valve

Hl BM6 PERFORMANCE DATA

Flow(L/min)

Max.cont.

Max.int.

BM6 1250[1186.8ml/r
Pressure (Mpa)

Max.cont. Max.int.

3| 5| 7 [105] 12|14 16| 18|

30 | | 468 | 770 [ 1070 | 1602

Tl 25 | 24 | 23 | 22

45 | | 465 | 767 | 1068 | 1599 | 1826

|| 37 | 36 | 35 | 34 | 33

60 | | 462 | 763 [ 1065 | 1596 | 1822

||| 50 | 49 | 48 | 47 | 45

75 | | 460 | 760 | 1062 | 1592 | 1818 | 2123 | 2654 | 2978
"1l 62 | 61 | 60 | 58 | 57 | 57 | 56 | 52
90 | | 456 | 758 | 1060 | 1590 | 1816 | 2118 | 2652 | 2975
|l 74 | 73 | 72 | 71 | 70 | 68 | 67 | 64
105 | 453 | 756 | 1058 | 1587 | 1814 | 2116 | 2650 | 2973
||| 87 | 8 | 85 | 84 | 82 | 82 | 81 | 79
120 751 | 1050 | 1582 | 1802 | 2110 | 2641 | 2963
L 98 | 97 | 96 | 95 | 93 | 92 | o1
140 742 | 1041 | 1561 | 1792 | 2008

e 13 | 112 | 111 | 109 | 107

160 1032 | 1550 | 1782 | 1986

e 129 | 128 | 127 | 126

190 1020 | 1532 [ 1770

L 153 | 152 | 151

(Speed) : 152r/min

Il BM6 Installation

4- 022 square flange A

0
$200-0.072

(Torque ) : 1532Nm

110

_.825 P(A,B) 4-C 4-022
— Y W\ 175 17.é
N
3%
™ 1
- ,< g j
e _ | Pel ] ®
AR
8| N
)
\1
4 e
. 17.5 17.5
325 88 B 28 i
L2 220X220
Mounting surface L
www.rudiflex.com



NA RUDIFLEX' THOTH

BM6 Orbit Hydraulic Motor With Disk Valve

B BM6 Installation

4—-® 22 square flange A1

25

T P(A,B) 4-C
\ *\17.5 17.5
N
-
: &
[32] [ee]
° § )‘E iy B /./ &
& - & J g S m > ©
© | N
A VanY
Y
- /
=
[ 17.5 7.5
14.5 106 B 28 i
L3 220X220
Mounting surface L1
TYPE BM6-800 BM6-1000 BM6-1250
L 278 288 300
L1 296 306 318
L2 217 227 239
L3 235 245 257
B 33 43 55.5

W BM6 PORTS CODE

P(A\ B)( deep)

Y G1-1/4(20) M12(12) G3/8" (12)
Y1 ®36(20) M12(12) G3/8" (12)
P(A. B)--Ports, C——Mounting Thread (—Indicates no this thread ) , T-—Drain connettion

www.rudiflex.com 111



BM®6 Orbit Hydraulic Motor With Disk Valve

NX RUDIFLEX THC

Bl BM6 SHAFT VERSION

P: @63 Cylindrical shaft, parallel key18

|A
5 80 /\'30°
g
o| =2 M o
=3
28 Ia
105
<
141
123

|A
a1 o
I
{3
33| o1 _9
s| =t &
e
28 |
A
70
106 q
88

67

-0.05
0.12

6-14 0

< : Motor mounting surface

112

x11x 80
|A
A-A
0 94
18-0.043 30°
63+0.5 /‘
ol W
ol Z
-3l 5§
u‘_a. 8" II 1/ -
5| &
8y «
30 I L
A
130 q
112

P1: ®57.15 Cylindrical shaft, parallel keyC12.7x11x63

H2: ®45 Splined shaft, 6-45x39x 12

|A
A-A .
49 30
| [}
©48.7 0% . i
ssl o T _g
e &
3
28 |
6x60° A
77
113 <
95
www.rudiflex.com

A-A

12.7-g.043

62.9

-0.05
-0.12

6-12

A-A

3904




NX RUDIFLEX THC

BM6 Orbit Hydraulic Motor With Disk Valve

Hl BM6 Series Mortor

Direction of shaft ration: Standard

When facing shaft end of motor, shaft to rotate:
Clockwise when port “A” is pressurized.
Counter—clockwise port “B” is pressurized.

www.rudiflex.com 113



N RUDIFLEX® THC

BM®6 Orbit Hydraulic Motor With Disk Valve

W BM6 ORDERING CODE

1 2 3 4 6 7
BM6 | — / _
Posi | 2 3 4
Series | Disp Output
P | ©63 Cylindrical shaft, parallel key 18 x 11 x 80
A | 4-022 Square flange, pilot® 200
800
P1 | ®57.15 Cylindrical shaft, parallel keyC12.7 x 11x 63
BM6 | 1000
H1 | ®55 Splined shaft, 6-55x48.7 x 14
1250 A1 | 4-®22 Square flange, pilot® 175
H2 | ®45 Splined shaft, 6-45x39x 12
5 7
| Pore Special features Rotation
Code| ports(a,B)(deep) |Drain port T(deep)| P direction
Y G11/4(20 G3/8” (12)
(20) Omit Standard  |Omit|Standard
L |Opposite|
Y1 ®36(20) G3/8" (12)
114 www.rudiflex.com




NX RUDIFLEX THC

APPENDIX

l COMPARISON

BMP BMR BM3Y BM3SY BM4 BM4S BM5 BM5S BM6
Danfoss OMP OMR OMS OMSS oMT OMTS omv OMVS -

M+S EPM EPRM EPMS - EPMT - EPMV - -

W USAGE AND NOTICE

1. Selecting motor by standard technical data.

2. The motor must be coaxial with the driven part and the bracket should be stiff enough.

3. Working temperature is 25~55 °C, maximum temperature is 65 °C. Hydraulic oil with kenimatic viscosity 25~70mm?/s (50 °C) is
recommended. The filter is about 20pm. The oil must be clear, polluted oil will damage the motor badly.

4. For BM4-6 there should be a pipe connected the drain port and the oil tank; for BMR. BMP. BM3 the back pressure should
be lower than 0.7Mpa, if the back pressure is higher than 1.0Mpa, a drain line should be connected to the oil tank.

5. If nonstandard motor is needed, please contact our technical department.

Il COMMON UNIT AND CONVERSION

N 1 N=10"°KN
kgf 1kgf=9.81N
Ibf 1lbf=4.45N
bar 1 bar = 10°Pa = 14.5 Psi
Pa 1 Pa=1N/m’=10"° MPa
N-m
kgf - m 1kgf-m=9.81 N-m
H FORMULA
n=%1n, (vmin) Ts=2PV 0 (Nem)
2
Qs —— (L/min) Ap — (MPa) Ps=n*Ts/9550
V —— (U V —— (mlfr)
Ny—— Mm—
www.rudiflex.com

115



NX RUDIFLEX THC

ZBMR Hydraulic Motor with Braker

Il INTRODUCTION

ZBMR are BMR orbit hydraulic motor with multi-disc brake. There are
shuttle valve and inner hydraulic control system. It has small volume,
short radial dimension, low weight and easy to install. It's widely applied
in construction machinery, shipping machinery, cranes, mining, port,
metallurgical industry, etc.

Il ORDERING CODE

1.2 3 4 5

(ZBMRT-T [ T [ I/1 ]
1. Displacement 3. Mounting Flange
2. Output shaft 4. Ports

P1- Standard flat key H1- Standard spline key 5. Special Features

B TECHNICAL DATA

Displacement | Max.pressure | Max.torque | Speed range | Releasing pressure | Static brake | Associated | Weight | Length

N.m torque N.m
ZBMR-80 80.5 14 152 20-500 1.3-1.7 250-300 BMR-80 12.3 240
ZBMR-100 100.5 14 194 20-450 1.3-1.7 250-300 BMR-100 12.5 244
ZBMR-125 126.3 14 237 20-400 1.3-1.7 250-300 BMR-125 12.8 248
ZBMR-160 160.8 14 310 20-300 2.6-3.2 450-500 BMR-160 13 254
ZBMR-200 200.9 14 369 20-250 2.6-3.2 450-500 BMR-200 135 261
ZBMR-250 252.6 11 380 15-200 2.6-3.2 450-500 BMR-250 14 270
ZBMR-315 321.5 9 380 15-160 2.6-3.2 450-500 BMR-315 14.5 282

Il ZBMR-80(80-315)P1(H1) All'Y Installation

2-G1/2" 17
. 15 36 |38
2-@13.5 G1/at 4-M8

\ 10 13 20|20, [ |-8 8X7X32

Y -
ki R P1
o o
S a4 \)%\ 5 4 g8 .,
¥l | oy S\ s 33
oY SO SE=1 sk
ok ﬂ = N @ PN = ®
- r N N Q
Q L/ 43
{E‘ \{_ﬁ I
54
08 20|20 -
55 H1 32 6-3018x25b12x6d10
107.5 L 83
Ly L o190
= =7 o
A4
20
~ 54

116 www.rudiflex.com



NX RUDIFLEX THC

ZBMR/N Hydraulic motor with braker

Il INTRODUCTION

ZBMR/N hydraulic motor-brake is made up of BMR geroler motor and multi-disc brake, with shuttle valve and built-in control
oil circuit.lt has the advantages of simple structure, short radial dimension, more compact and easy installation, etc..This
brake is characterized by point braking,and there are total six braking points in a circle.When receiving the stop signal, the
motor needs to keep running at most 60 degrees to be braked. It can not stop running suddenly and can not be used for
precise positioning.Itis widely used for injection molding machine, some of transmission and horizontal pulling application.

Il ORDERING CODE

1 2 3 4 5
[zBMRT-T T T T 1/N-[]

w

1. Displacement . Mounting Flange
2. Output shaft 4. Ports
P1- Standard flat key =~ H1- Standard spline key 5. Special Features

Il TECHNICAL DATA

Displacement | Max. pressure Max. torque Speed range P Associated
ml/r Mpa Nem r/min Releasing motor
pressure
ZBMR-80/N 80.5 14 152 60-500 2.4 450 BMR-80 187 9.4
ZBMR-100/N 100.5 14 194 50-480 2.4 450 BMR-100 190 9.5
ZBMR-125/N 126.3 14 237 40-380 2.4 450 BMR-125 195 9.8
ZBMR-160/N 160.8 14 310 30-300 2.4 450 BMR-160 201 10
ZBMR-200/N 200.9 14 369 25-240 2.4 450 BMR-200 208 10.5
ZBMR-250/N 252.6 11 380 20-195 2.4 450 BMR-250 217 11
ZBMR-315/N 321.5 9 380 15-150 2.4 450 BMR-315 229 11.5
ZBMR-400/N 401.9 7 380 10-130 2.4 450 BMR-400 243 13.5

Notice: 1. ZBMR/N Hydraulic Motor-Brake is only for static brake.
2.When the motor is braked: for the internal control motor, the input and output line can not be pressured, otherwise
it will not be braked; for external control motor, the control line can not be pressured, otherwise it will not be braked.

www.rudiflex.com 117



NX RUDIFLEX THC

ZBMR/N Hydraulic motor with braker

B ZBMR- (80-400) P1(H1) AIIY/N

2-G1/2" 17
15 36 38
2-013.5 4_Ms
13 —
20 | 20 8 8x7x32
‘E' )%\ P1:/ &5
~ «E; \K\ oy *‘“* . <4
83 2| I & L1 r=; ) P
8l +— S| Hts TS I 68 @
" e ol &g
e INI T 43
e |
54
G1/4 27 M8*1 20| 20 L
55 10 H1: 6-30f8x25b12x6d10
2 o
107.5 L 22
[ © R
A | ~ o
= 2
20

118 www.rudiflex.com



NX RUDIFLEX THC

ZBM Hydraulic motor with braker

Il INTRODUCTION

Il TECHNICAL DATA

Displacement | Max. pressure

ml/r

Mpa

Max. torque
Nem

ZBM are BM orbit hydraulic motor with multi-disc friction brake. The brake can
be released or closed automatically while the motor starts or stops, to keep
the motor being blocked stably without working pressure. Also, the control
inlet can be connected to any other control loops, to accomplish different

applications, adapted for high system pressure working places.

Speed range

Associated

ZBM3/80
ZBM3/100
ZBM3/125
ZBM4/160
ZBM4/200
ZBM4/250
ZBM4/320
ZBM4/400
ZBM5/400
ZBM5/500
ZBM5/630
ZBM5B/630
ZBM5B/800
ZBM6B/1250

Il ORDERING CODE
zBM [/1--
3 4

1 2

No oA~

ports

80.5
100.5
126.3
158.8
200.8
2522
317.5
401.6
399.7
496.6
617.8
617.8
787.4

1186.8

5

Orbit hydraulic motor with braker
Installation dimension: F- Vertical front flange
Standard spline key B— Standard flat key
Inner hydraulic control system (see page 121)

16
16
16
16
16
16
16
12.5
16
16
13
16
16
16

6

Bl ZBM * / % —F-H-K1Y Installation

axt P

156
193
243
307
387
513
613
685
770
960
983
1250
1600
2250

2. Series 3. Displacement

r/min Releasing

pressure
15-620 2.6
15-500 2.6
15-400 2.6
15-500 2.6
12-400 2.6
12-320 2.6
10-250 2.6
10-200 2.6
10-250 2.6
10-200 2.6
10-160 2.6
30-200 3.0
30-150 3.0
20-110 3.6

M10x1
H
H— - Hle=—- o

L7]

L

L1 |

L3

L2

www.rudiflex.com

245 BM3-80 18
245 BM3-100 18
245 BM3-125 18
590 BM4-160 37
824 BM4-200 37
824 BM4-250 37
824 BM4-320 37
824 BM4-400 38
824 BM5-400 46
1060 BM5-500 46
1060 BM5-630 46
1450 BM5-630 55
1680 BM5-800 55
2330 BM6-1250 70
B K
-
'DI | - ——

L3

L2

L4
L3

L2

119



NX RUDIFLEX THC

ZBM Hydraulic motor with braker

Hl ZBM DIMENSIONS

Shape and junction Flange and mounting face size

Type

Output shaft size

L[5 e [P | D D1 BBt nxt [ 17| Type | d |12 |13 ]14] B [ H

BType 327 625 54 45 10h9 35
ZBM3/80-125 189-230 32 22 G1/2" 10079132 124 6.5 4xd10.5 16
®30f7 50 43.5 30 - -
H Type
6-30f7x25b12x6d10
BType 407 75 58 50 12n9 43
ZBM4/160-400 249-285 40 23  G3/4" ®125f79200 178 15 4xd17 18.5 ®38f7 75 58 40 - -
H Type
8-38f7x30b12x6d10
BType ©4077 735 55 45 12h9 43
®45f7 98 77.5 55 - -
u H Type
ZBM5/400-630 271-300 50 24 G1* ®160f7$200 178 16.5 4xd17 19 yp 6-45F7%38.2b12x12¢10
K Type ExT 17zx2.5mx30p
Hl ZBM5B/630-800-F-H-K3Y Installation
®200 4-G3/8"
5
= | Tk s-72t7x62a11x12do
< 7_% 7 A M10X1 " 7
i RS N
N ' N
N £ TIT 4-M10 |20
o | = -
H r_“ 1 |.2L | 40
] =
123.5 62.5 16 |16.
380~395 77
B ZBM6B/1250-F-H-K3Y2 Installation
4-G3/8"
A7)
=
| || |\ ramezattxize
7
o | o | Mi0X1 !
|
T e5eis-ls!
] T|T 44M10 20 ©
o
|.L 40
68
| L]
id
@_ ‘%_
131.5 65 18]16.
405.5 i '[ 86
www.rudiflex.com

120



NX RUDIFLEX THC

ZDM Hydraulic braker

Il INTRODUCTION

ZDM series hydraulic braking device is mainly composed of friction plate

machinery,etc.

l ORDERING CODE

1 2 3 4 5 6
zome | /a0 - [ F|- B8] -|B| /T

Product Series
Brake Torque
Mounting Flange
Output Shaft Type
Input Type
Special Features

Il TECHNICAL DATA

Type Static brake Releasing MAX control pressure | MAX oil drain pressure
torque N.m | pressure Mpa
ZDM2-430 410-450 2.2-27 20 0.05
ZDM2-230 210-230 2.2-2.7 20 0.05

B ZDM2-430-F-B- Installation

G1/4" 12

Lubricating oil Speed range

volume ml r/min
9 50-100 0-800
9 50-100 0-800

53
=T 35
B <
=l @

N
Q) ©
5 ©

| 6
j/ 14 | 54
55
79
113.5
www.rudiflex.com

// 8132 \55
‘ uN
~. o]

: £\ &l .
— L) ] ©
AR e

22°30°
AN \ / ’
\\ : s
S N
8-M12 13 . $106.4 01

and high strength spring,through the external working pressure released
brake, input power priority with orbit hydraulic motor. Having characteristics
of low noise, high reliability, compact structure, convenient installation,etc.
It is suitable for engineering machinery, handling machinery, agricultural

121



NA RUDIFLEX' THOTH

I OVERCENTRE VALVES FLANGEABLE

ON DANFOSS MOTORS OMP/OMR
Tvre VBCDF SE OMP/OMR

S E 100 40

48 36 16 15, 25

s eefErr AL EH
Bl o A -6 N
%l

140
—+2
|

=1

;7135‘%\? S 1
5 18 S :
21 '

S|

Vi

Il

m

DE OR130

2]
=,
=
S

sbloccafreno - brake unclaping

V0415/SF ( CODE / SF]
. . Max flow Max pres- VAR . Weight
Art. Type Pilot radio Lt /min sure Bar Gas Ci1-C2 Kg
MQ248030 VBCDF 1/2” SE OMP-OMR 1:4,5 50 350 G1/2” g9 2,686
MQ248031  VBCDF 1/2” SE OMP-OMR SF 1:4,5 50 350 G1/2r @9 2,686

On request: VBCDF/SF-DE - With brake release port - Face mounting - Material: steel

Tvyre VBCDF DE OMP/OMR

80
57 23
CODE / SF
sblocct(zfreno - I{ruks] unclaping Y SEDE OR130
==
o 1720\
“ﬂ N\ S _
I 3) (\‘3 — = = )
U
g | ;\/ s = 9 = g B
< \2as 3 3 g
] ?—‘%&_ = % == (#
pe LAMAT 13,5 u -
o — @ ) & a
9 N4 3
Y 22 18] 35
23, 57 . 50
172

VO0425/SF

. . Max flow Max pres- V1-V2
AT I e el Lt./min sure Bar Gas
MQ248032 VBCDF 1/2” DE OMP-OMR 1:4,5 50 350 G1/2” a9 2,708
MQ248033 VBCDF 1/2” DE OMP-OMR SF 1:4,5 50 350 G1/2” a9 2,708

On request: VBCDF/SF-DE - With brake release port - Face mounting - Material: steel

122 www.rudiflex.com



NA RUDIFLEX' THOTH

Hydraulic components

I OVERCENTRE VALVES FLANGEABLE

ON DANFOSS MOTORS OMS
tyre VBCDF SE OMS

- * SE

- - |

V2

)

2

Vo
\E% SEDI OR 130
D) \

T N poiL

55
vi/a 16kl 22 |_ V2o
N bloccafreno - broke ndlaping VO416/SF

1. 32 1.5 (CODE / SF)

148

2
LAMLT q16‘5
12
I~

Y

1
e)
S
(s}

|

100

=
Z,
=

|

. . Max flow Max pres- VAR . Weight

Art. Type Pilot radio Lt /min sure Bar Gas Ci1-C2 Kg
MQ248034 VBCDF 1/2” SE OMS 1:4,5 50 350 G1/2” g9 1,700
MQ248035 VBCDF 1/2” SE OMS SF 1:4,5 50 350 G1/2r o9 1,700

On request: VBCDF/SF-SE - With brake release port - Face mounting - Material: steel

tvyre VBCDF DE OMS

170
24 32 24
19 42 19
@) c1 V2 SEDE OR 130
\ Lot 316.5
g = RN «
g |3 \é;/ B
3
o o ==
N -
===t o 4D T s
o >J}E \4 o | =
8
_\ o)
| - | - L )
& BEP)

20.5 “_sbloccafreno - brake unclaping | 16,

( CODE / SF) 50

Vi 195 4

@K | © N2

V0426/SF

. . Max flow Max pres- V1-V2
AL Wigs Pl msle Lt./min sure Bar Gas
MQ248036 VBCDF 1/2” DE OMS 1:4,5 50 350 G1/2” g9 2,150
MQ248037 VBCDF 1/2” DE OMS SF 1:4,5 50 350 G1/2” Q9 2,150

On request: VBCDF/SF-SE - With brake release port - Face mounting - Material: steel

www.rudiflex.com 123



RUDIFLEX. PERFECTION IN SERVICE

Innovation, experience, quality, reliability, production flexibility and a customer oriented service are the
cornerstones of Rudiflex company philosophy.

In 2020 Rudiflex has finalized Partnership Agreements with leading hydraulic components manufacturers
and today the company in its two divisions, hydraulic and mechanical, has a wide range of products
always available at stock.

Flexibility and technical knowhow allow Rudiflex people to design and produce complete hydraulic
systems that are tailored to customer’s specific requirements.

The organizational changes made confirm that Rudiflex is very dynamic and ready to face the future
challenges, proposing itself to its customers not only as a supplier of components but also as a Partnerin
the supply of mechatronic solutions.

RUDIFLEX

Via Madonnina, 110 - 25018 Montichiari (Brescia) - Italy - Tel. +39 030 9650406 - Fax +39 030 9664288 - info@rudiflex.com

www.rudiflex.com

W y FEDER
A UNACOMA

Federazione Nazionale Costruttori
Macchine per I’Agricoltura

C' assofluid

art&image



